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CENTRALLY SPONSORED

NATIONAL MEANS-CUM-MERIT SCHOLARSHIP SCHEME

Ministry/ Department Name: Ministry of Human Resource Development/

Department of School Education and Literacy

Objective : The objective is to award scholarships to meritorious students of

economically weaker sections to arrest their drop out at class VIII and encourage them to
continue the study at secondary stage.

A.About The Scheme :

1.

Under this scheme 1,00,000 scholarships are awarded to the gifted or meritorious
students whose parental income is not more that Rs 1,50,000/-Per annum from all
sources.

These scholarships will be provided on yearly basis to the students studying as regular
students in class IX in a Government, Government-aided and local body schools
which will be renewed for classes X, XI and XII . Thus the scholarships will be for a
maximum period of four years.

The amount of scholarship will be Rs 12,000/-per annum at 1000 per month 100%
funds are provided by the Central Government for the Scheme.

100% funds are provided by the Central Government for the Scheme.

. Procedure for Selection of Awardee Students :

. The State will conduct test for Selection of Students . The State Level Examination

consist of the following two test:
i.  General Mental Ability Test (G-MAT)

Mental Ability Test May consist of 90 multiple-choice questions testing verbal

and non-verbal meta-cognitive ability like reasoning and critical thinking. The
questions in the test may be on analogy, classifications, numerical series, patterns
perception hidden figure etc.

ii. Scholastic Aptitude Test (SAT)

Scholastic Aptitude Test may consist of 90 multiple-choice questions covering
subjects namely science, social studies and mathematics

Duration of the Test : Each test will be of 90 minutes duration. Children with disability
will be given extra time, as applicable

The students shall have minimum of 55% marks or equivalent grade in Class VII
examination for appearing in selection test for award of scholarship (Relax able
by 5% for SC/ST Students)
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Declaration of Results

For selecting the students , the following conditions may apply:
The students must pass both the tests i.e, GMAT and SAT with at least 40% marks in
aggregate taken together for these two tests. For the SC/ST students, this cut off will
be 32% marks.

The awardees should satisfy the eligibilities and the conditions mentioned in the
scheme.

Disbursement of Scholarships
A student can avail only one Scholarships under any scheme .

The awardees will be required to open bank account preferable in SBI. or any pub
sector bank which has core banking facility.

The state Government Administrations shall normally send the proposals/list of
beneficiaries on-line onthe Scholarships

SBI will ensure that the Scholarships is paid to wardees in one go (Rs 12,000)
immediately after getting the founds and lists from the Ministry.

General Eligibility Conditions:
Take up studies in approved course, i.e, IX,X, XI and XII only

No Scholarships shall be available for studies abroad for any scheme.

Scholarships shall be deemed to be discontinued with any gap of one academic
session for which one has applied for the claim.

Scholarships shall be deemed to be discontinued with any gap of one academic
session in studies at any time due to any reason

Scholarships one discontinues on the basis of the rules of disbursement of
Scholarships cannot be revived under any circumstances.

All rules are subject to change to change from time to time, as and which will
be binding on all awardees.

Eligibility and other Conditions for Starting and Continuing of Scholarships

at Secondary and Higher Secondary Stage.
1 The awardees should get clear promotion from class VII to class IX
for being eligible for starting the Scholarships.

2. The Scholarships at the secondary and higher secondary stage or
equivalent classes IX to XII is payable for a maximum period of four
years for studies in India only

3. No Scholarships at this stage is payable studying diploma/certificate level
courses.

4. For continuing the Scholarships in call X and XII, the awardees should
get clear promotion from class IX to class X and from class XI to class
XII in the first attempt with 55% marks (realax able by 5% for SC/ST
students)

5. The awardees must obtain a minimum of 60 per cent marks in Class X
(relax able by 5% for SC/ST students) examination or equivalent
examination for continuation of the Scholarships at higher secondary
stage.
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1. wear 5@ NUMBER SERIES

9T (19 18) QUESTIONS (1-18)
B - RT 7 Aeedt & & T Directions : Complete the following numbers
. ies by choosing the correct number from
BT T O . series
. R ar the given choices
FGeT g ST |

1) 2, 26, 74, 98, 146 ? 5) 152, 149, 143, 131, 107, ?
1) 170 2) 188 3)194 4)198 1)79 2)69 3)59 4)49
2)9,13, 21, 37,7133 6)6,6,7, 11,736, 61

1)69 2)79 3)89 4)99 1)24 2)20 3)18 4)14
3)7,17,8,16, 7107 1) 42, 41, 43, 40, 47, 32, 56 7
1)41 2)43 3)57 4)93 1)24 2)6 3)06 4)05

4)?, 73,7, 62, 58, 55, 53 8) 11,12,13,117, 25, 34,?

1)80,67 2) 80,66 1)51 2)61 3)71 4)81
3)78,65 4) 181,68




9) 6, 25, 62, 123, ?

1) 210 2)216 3)217 4)214

14) 6, 12, 36, 72, 216, 432 ?
1) 864 2)1024 3) 1296 4)1962

10) 5, 8, 31, 20, 129, ?

1)24 2)40 3)29 4)31

15)2,3,4,4,8,7,14,12,?
1)18 2)19 3)20 4)22

11) 7,10, 15, 22, 31 ?
1)34 2)36 3)40 4)42

16) 240,712, 4, 2, 2
1)36 2)48 3)60 4)72

12) 6, 24, 60, ? 210

1) 120 2) 125 3)130 4)140

17) 1,5, 11, 19, 7 41
1)23 2)27 3)29 4)31

13)1,2,4,4,76, 16, 8
1)5 2)6 3)8 4)9

18) 215, 763, 26, 7, 0
1) 125 2)124 3)120 4)81




2. 9@l # el F&AT & 991 WRONG NUMBER IN THE SERIES

oo (19 @ 36) QUESTIONS (19-36)

forder - s@en # s @@ #1 T@A A1 pirections: Identify the wrong number in
the series

19) 0, 2, 6, 13, 20, 30 23)-37,-8,-1,0,1, 8

1)2 2)6 3)13 4)20

1)-1 2)1  3)-37 4)-8

20) 0, 7, 25, 63, 124

1)7 2)25 3)63 4)124

24) 1, 2,9, 64, 525

1)9  2)64 3)525 4)2

21)5,4,11,8,17, 28

1)5 2)4 3)11 4)8

25) 1, 8,12, 256, 125

1)8  2)12 3)256 4)125

22) 0,1, 8, 26, 64, 125, 216

1)26 2)64 3)125 4)216

26) 2,3,5,7,11,15,17,19

1)13 2)15 3)17 4)19




21)(2,3) (3,5), (5,7), (1,9), (11,13)

1) (3,5) 3)(7,9)
2) (5,7) 4) (11,13)

32)1,2,9,64, 525

1)9  2)64 3)525 4)2

28) 8, 4,2,1,0.15,0.25, 0.125

1)0.15 2)0.25 3)0.125 4)1

33) 3, 6, 12, 72, 360, 2160

1)6  2)12 3)72 4)360

29)5,4,11,8,17, 28

1)5 2)4 3)11 4)28

34) 56, 60, 68, 86, 96

1)60 2)68 3)96 4)86

30)0, 1, 8, 26, 64, 125

1)26 2)64 3)125 4)216

35) 6, 12, 20, 30, 42, 54

1)20 2)30 3)42 4) 54

31) 10, 50, 120,170, 290

1)10 2)50 3)120 4)170

36) 11, 30, 67, 122, 219

1)122 2)67 3)30 4)11




3. 3o HEIT &I IF7  ODD ONE NUMBERS

weeT (37 ¥ 56)
frdyr -Frafafad woit 3 o & oRT Ad
HEA & AR qHE A A3 e v | 3
# J 7 ¥ 3O § 39 AW T G ()

QUESTIONS (37-56)

Directions : In the given questions there are
four groups of numbers / pairs of numbers

of whivh three are like and one is different.
Find the one which is different.

fareg wme |

37) [ V11,13 2)1719  3) 29,27 4) 23,31
38) | 1)36,25 2)64,36 3)81,64 4)100,81
39) [ 1)144 2) 225 3) 256 4) 324
40) [ 1) 11 2) 24 3) 39 4) 49
41) | 1)90,72  2)110,131 3) 30,20 4) 56,42
42) [ 1) 39 2) 31 3) 23 4) 117
43) | 1) 121 2) 242 3) 253 4) 284
44) [ 1)4123  2)4213  3)5204  4) 642]
45) | 1) 101 2) 114 3) 118 4) 129
46) | 1) 2347  2)2356  3) 2383  4) 2391




47)1 1)8 2) 27 3) 63 4) 125
48) 1 1)1,0 2) 3,8 3) 7,48  4)9,82
49) | 1)511  2)17,23 3) 31,37 4)41,47
50) | 1)72 2) 132 3) 156 4) 192
51) | 1) 213 2) 120 3) 61 4) 24
52) | 1)10 2) 35 3) 26 4) 17
53)| 1)5,20 2)7,30 3)835 4)12,60
54) 1 1)5 2) 30 3) 61 4) 122
55) | 1) 131 2) 151 3) 161 4) 171
56) | 1)6 2) 23 3) 62 4) 123




4. @TEeTw TwaT ANALOGY (NUMBERS)

w2 (57 ¥ 76)
fAgr-wdr Reeq gas sy@ar gt ffSw

QUESTIONS (57-76)

Directions: Complete the given analogy by
selecting the correct answers from the four
alternatives.

57)9:25::36:? 62)117:2_87::3:13_:?
1)64 2)81 3)100 4)144 1)64 2)81 3)1000 4)144
27 08 27 08
h8)2:8::7:216 63) 36:63::7:23
1)44 2)6 3)16 4)14 1)32 2)27 3)51 4)72

h9)1:2::2:7? 64) 16 : 63 ::7: 24
1)5 2)9 3)7 4)8 1)4 2)9 3)16 4)25
60)?:0.16:: 0.8 : 0.64 65)7:49::9:?

1)0.2 2)0.32 3)0.4 4)0.2

1)50 2)81 3)80 4)82

1.1 .2 .9
61) 55 =g 1
1) £ 2)4 3)% 48

66)-2:-32::3:7

1) 43 2)34 3)243 4)234




67)35:217::15:7

1)64 2)65 3)66 4)67

72)3:10::7:66

1)28 2)29 3)30 4)31

68) 121:2::961:7

1)1  2)3 3)4 4)5

13)216:7::512:7

1)12 2)10 3)7 4)9

69) 11:30::7 128

1)65 2)66 3)67 4)68

714)42 :72::7:132

1) 110 2) 100 3)90 4) 256

70) 6/8 : 49/512 :: 9/7 : ?

1) 49/100 3)121/343
2)49/81  4)100/343

75)65:7::126: 48

1)31 2)32 3)34 4)35

71)48:126::35:7

1)66 2)65 3)64 4)63

76) 5/7 : 36/342 ::3/5:?

1) 16/125
2) 27/125

3) 16/124
4) 36/7

GMAT - 08



5. 3egg HEAT

MATRIX (NUMBERS)

g2 (77 & 96)
fqu arv faweat & @ W wEAT gAR
e wEAr gt fifaw |

QUESTIONS (77-96)

Directions : Find the missing number
in the given matrix

77)5 8 7 82) 11 12 25

11 17 15 21 30 36

21 33 °? 32 ? 64
1)25 2)26 3)28 4)29 1)21 2)22 3)23 4)24

78) 5 11 36 83) 12 64 8

11 4 125 25 ? 20

15 ? 256 32 21626
1)29 2)30 3)31 4)32 1) 125 2) 225 3) 25 4) 75

79) 6 18 24 84) 3 25 2

23 73 113 4 49 15

11 37 ? 5 ? 4
1)54 2)65 3)75 4)78 1)21 2)121 3)129 4) 29

80)4 6 8 85) 36 64 25

9 ? 11 49 49 27

14 15 16 8 ? 8
1)7 2)8 3)9 4)10 1)30 2)36 3)46 4)48

81) 12 4 24 86) 6 2 32

16 5 40 5 3 16

18 6 °? 7 4 7

1)48 2)50 3)52 4)54

1)25 2)33 3)36 4)45




87)3 8 7 92) 4 2 14

9 4 ? 5 4 21

6 7 5 6 ? 30
1)5 2)6 3)8 4)9 1)4 2)5 3)6 4)24

88) 17 13 15 93) 8 18 15

9 ? 12 3 4 6

8 6 7 12 36 ?
1)5 2)10 3)15 4)16 1)21 2)45 3)72 4)90

36 45 54 3 6 5

42 55 ? 4 3 5

1)52 2)58 3)68 4)72 13 22 7»
1)35 2)11 3)9 4)26

90) 4 6 10 95) 5 9 7

6 8 28 8 14 13

8 10 ? M W ?
1)18 2)54 3)38 4)26 1)P 2)R 3)S 4T

91) 5 ? 4 96) 4 6 49

6 41 5 5 8 81

7 55 6 6 ? 100
1)20 2)29 3)14 4)36 1)4 2)6 3)8 4)10




6. Hehd YTfAEATIT SUBSTITUTION OF SIGNS

wesT (96 & 118) QUESTIONS (97-118)

frdyr RT 7T Rwedt § ¥ 78 Reew Directions: Choose and substitute the correct
set of signs in place of * sequentially, selecting

Sy i A T FHIFTT T | from the given alternatives to make the question
meaningful.
97)3*4*2*10
1)-;=1+ 2)XI-I= 3)-I=IX 4)+I-I=
98)42*6*7*9*40
1)+IXI_I= 2)XI_I=I+ 3)-I=I+IX 4)=I+IXI-

99)2%4*12%6*3%24

1)-I+I>IXI+ 2)+I-I+I<I> 3)XI+I-I+I< 4)<1+ t,-2

100)9 * 81 * 9 * 81

1)-,=,+ 2)x,-,= 3)-,=,X 4) x ,+, =
101)1%2*3%4*5

1)+,-,x,< 2)-,x,>,+ 3)x,<,+,- 4)>,+,-,X
102)0*1*7*4*0

1)+,-,=,+ 2)+,x,>,+  3)x,=,+,- 4)=,x,-,+
103)49*7*6*2* 40

1) +,-,+,=  2)x,+,-,+ 3)+=,x,-,= 4)=,x,-,+
104)8*2*4*12

1)x,=,- 2)=,x,- 3)-,x,= 4)x,-, =
105)5*3*3*18

1)+, x, - 2)x,+, = 3)=,x,+ 4)=,+,x
106)6*7*3*10

1)-,=,+ 2)x,-,= 3)-,=,x 4) +,-,=




107)10*2*14*6

1)-,=,+ 2)+,=, - 3) x 4)=,+,X
108)6 *3*7*10

1)+, x,> 2)+,x, < 3)+ 4) x,+, >
109)5*18*6 * 15

+,+,= =+ 2)x,+,= 3) x 4)=,-,+
110)24*2*2*10

1)=,-,+ 2)+, =, - 3)+ 4) = ,+
111)48*6* 83 *3

1)+,=,-,+ 2)=,+,+,- 3) + 4)-,+,x,
112)36 *12*4*36*3

1)-,=,x,+ 2)+,=,+,- 3) = 4)=,+,+
113)30*8*4*36 * 24

1)+, -,=,X 2)+,=,x,+ 3) - 4)x,+, =

114)12*4* 4> 16 * 4

1) +,x,=,+ 2)x,+,=,- 3) + 4) =, +
115)12*6*5*13

1)-,=,+  2x,-,=  3)- fe,- =
116) 30 *6 * 3 * 2

1)-,+,= 2)=,-, = 3) + 4)x,-, =
117)6*16*8*5

1)-,+,< 2)x,-,= 3) + 4)=,x,+
118)7*4*5* 33

1)+,>,x 2)>,+,x 3) + 4)x,+,=




7. §EAT AT ohd HI dcolal INTERCHANGING THE SIGNS AND NUMBERS

W (119 & 128)

fader - faw v ol F w7 @
RFeT 1 Fear sgot sv Sad
HHTHIOT ST TE TA—T ST TH|

QUESTIONS (119-128)

Directions in each of the following
guestions two given numbers or signs
or both are to be interchanged in the
equation given in each option so that
equation in one of the option will be
correct identity the correct equation.

119) 124)

Signs (+ and x) Numbers (4 and 6 )
1)8x5+3=19  2)4+5x3=19 1) 24=6+4x5+3 2) 6+4x5=5+4x3
3)5x4+3=25  4)7+3x5=26 3) 6+4x3=20+4 4)14+6x3=4x3+2
120) 125)

Signs (+ and-) Signs (3andb)

1) 9+5=3-2 2) 8+4-3=13 1) 24=3+4x5+3 2) 5+3x6=7x3-2
3) 7+3-5=11 4) 8+3=1-4 3) 54+4x3=20x3  4) 3+5x4=3x6-5
121) 126)

Signs (+ and =) Numbers (7 and 11 )
1)10=5+13-2  2)9=3+2x4 1) 11+6x7+7=84 2) 7x8-11x6="7x4
3) 6+4-3=5 4) 11=3+5xx4 3) 11+7x8=100-7 4) 7x7-11x3=99
122) 127)

Signs (+ and+) Numbers (5 and 6 )
1)16=8+4+14 2)12=9+3+2 1) 5x4-6=6x4-5  2) 5+6x7=6+5x7
3) 6+2+3=5 4) 12=8+2+6 3) 5 2+4x6=17+5 4) 6x6+5x5+6=67
123) 128)

Signs (-and x ) Signs( 1 and 8 ) Numbers(+ and -)
1) 24=8-4x12 2) 27=9-3x2 1) 12x3+4-+3=20x3 2) 1x9+8=22-1x5
3) 6-4x3=22 4) 32x8=4-6 3) 8-8x3-1x5=40+1 4) 8-1x4=49-1+1x3




8. 3Tshsl 3R HEAT A FFTY  FIGURES AND NUMBER RELATIONSHIP

TesT (129 & 147)

fader - A e v meat & smwar 7
WEAT TF qER @ Feafta § I39!
qumﬁgmaﬁﬁwqgm
et ¥ $RT |

QUESTIONS (129-147)

Directions: In the questions below the numbers
in the figures are related, Identify there
relationship and find the missing number in

129) Z

3

1) 144 2) 134

4) 114

ONON
/A

the given figures

130) /\
1) 125

3) 124
3) 175

11 10
2) 155 4) 225
2) 13 3) 15 4) 17
132)
3 4 12 5 8 6
5 13 ?
1) 11 2)9 3) 10 4) 14




133) 30 36 45 41 74 ?
28 34 40 36 61 70
1) 53 2) 63 3) 73 4) 83
134) 8 9 18 20 43 40
10 26 ?
1) 45 2) 42 3) 40 4) 55
8 20
) 26
41|33
1) 50 2) 55 3) 60 4) 65
136) 7 15 25
13|20 9 30 | 45 | 20 100| ? | 50
11 25 75
1) 100 2) 125 3) 150 4) 175
137) 16| 4 36| ? 49 | 25
49 81 121
25| 4 16 | 25 36 | 11
1) 4 2)9 3) 16 4) 25




O ONIROONROO
ORI OO,

1) 144 2) 169 3) 196 4) 225
P s
1) 6 2)7 3)8 4)9
140) 2 3 2
4 3 2 7 3 5
1) 84 2) 82 3) 74 4) 72
']4] ) 15 18 20
238 176 13 3
7 12 8
1) 106 2) 120 3) 138 4) 159
142) 8 6 18
4 12 10 14 9 12
1) 14 2) 13 3) 12 4) 11




143) s 4 14 2 13 6
30 56 ?
5 12 6 9 5 15
1) 165 2) 72 3) 65 4) 25
144) 8 12 16
513 7 9 | 2111 13] 2 | 15
6 10 14
1) 29 2) 28 3)30 4) 58
145) 1 3 3
5 121) 2 2 256 4 ? 6
3 6 5
1) 196 2) 225 3) 289 4) 324
146) 6 9
2/8 |2 \a
8\ 27 64 /7
513
1)1 2) 25 3) 125 1) 216
147)
9 3 7 20 11 5 9 46 13 4 12 ?
1) 30 2)35 3) 40 1) 44




9. §EA3T 1 " 3R @A SET OF NUMBERS AND RULE

e (148 & 167)

frder - T 1T weaAT A wEAr 3y e
TF G W FEEOT § | 3AFT qEaey
g F NFT v g A |

~answer sheet

QUESTIONS (148-167)

Directions : Find the rules has been applied to
the questions and write the number on the

. Twice the square of the number is increased by 5

II. Cube of the number added to the square of the number and further |~ o T o A s w ok St T 3w A e A

increased by that number

lll. Square the number and substract twice the number form that

IV. Substract the number from the cube of the number

V. Substract the number from the thrice the square of that number

|. §EAT & T F QR FF 5 A3

Il ¥&aT & &7 & & 3 FEA F QR T
IV. 3% & qdiT ara 7 & 38 F&dr F "
V. & F 7@ & ol a1 F & 56 dEwm Fowew

148) 120, 336, 720, 1320

Nl 2)10 3)IV 4)V

153) 7, 23, 71, 205
1)1 2)1I 3)IV 4)V

149) 14, 84, 155, 258
N 2)I 3)IV 4)V

154) 3, 39, 258, 1110
N 2)I 3)IV 4)V

150) 13, 37, 55, 103
1 2)0 3)IV 4)V

155) 6, 24, 60, 120
1 2)0 3)IV 4)V

151) 24, 48, 80, 120
N 2yl 3)IV 4V

156) 3, 8, 15, 24
1 2yl 3)IV 4)V

152) 10, 24, 44, 70
2y 3)IV 4)V

157) 120,143, 168, 255
N 2)1 3)IvV 4)V




o. &3 #T A 3R FIH SET OF NUMBERS AND RULE

wea (148 @ 167)

for&er - T arw meaY & wEar 3y =
TF gE ¥ FEEUT § | 3AFT FEaey
T F Naa vae @ fifSw |

QUESTIONS (148-167)

Directions : Find the rules has been applied to

the questions and write the number on the
answer sheet

I. Square a number and subtract 5

II. Multiply a number by 5 and add 5

lll. Add 5 to prime number.

IV. Cube a number and add 5 to it.

V. Add a number to it's square and cube.

| ¥ & g & ¥ 5 gew)

Il. ¥&ar & drg a1 & 5 S

IIl. 37375 & A 5 S

IV. §& & e ura & 5 )

V. §E # 39F g9 R g uw # S

158) 130, 13, 69, 32
2y 3) 4)1Iv

163) 3, 12, 36, 84
i 2y 3)IvV 4)Vv

159) 10, 24, 42, 106
1 2)0 3)IV 4V

164) 36, 42, 46, 58
2yl 3)IV 4V

160) 220, 20, 95, 395
2y 3)1 4)Iv

165) 76, 139, 164, 251
N 2)10 3)IV 4V

161) 30, 45, 85, 105
2y 3)IV 4)V

166) 130, 221, 517, 764
1)1 2y 3)IV 4)V

162) 31,76, 139, 116
Nl 2)i 3)IV 4V

167) 20, 55, 70, 95
e 2)10 3)1 4)IV




10. 378 H@ell  LETTER SERIES

9esT (168 ¥ 187)
fader - eafaf@a srew s@ar & ax
fawer QT av ¢ | w@ Reer gaaw
spEer gt fifST |

QUESTIONS (168-187)

Directions: Under each given letters series 4
alternatives are given complete the series by
choosing the correct one.

168)a ¢ c ca_ b 173)) 1 1 1 ]
l)bbaba 1)jkjklIm
2)bbbab 2)kmkmmk
3)bcbab 3)ImImmi
4)cchbaa 4 mjmjmj

169)a _cb a ab_ 174)x _zz xXy_ _ yX
l)bccab 1)yyzz
2)bacch 2)yzyz
3)babeic 3)xxzz
4)bcbac 4)xyzx

170)c b _ab _a c¢ b 175 a_ d__cd_b
l)abcba l)vcdab
2)acbac 2)bdaba
3)accba 3)abcda
4)accab 4)bcaba

171)c_a _ba b _c a 176)m _ _pno_ _op_n
l)bcabc l)nopmm
2)bccha 2)mnopm
3)bacch 3)onmmp
4)bccab 4)nopmm

172)p rs_ r_pr__qs__r | 177))_ _jk | Kkl
1)agssppq 1)jjlik
2)ppgqrrs 2) k11kj
3)gqrrssp 3)jkllj
4)ssppqqr 4)11kjj




178)ab _babc ab b _
bcb b
~ 1)acaca
2)cbaca
3)bcbchb
4)cbcaa

183)a _bbc aab cca
bbcc
B 1)bach
2)acba
3)abba
4)caba

179)a _b _bbca c¢ b
1)cbab
2)acca
3)abba
4)bbcc

184)bc b c b cch
1)cbcb
2)bbch
3)cbbc
4)bcbc

180)xy  Xyy_ Xy _ X
)xyyy
2) Xy xx
3)yxxy
4)XyyXx

185)c _bba cab ac
ab _ac
l)abcbc
2)acbchb
3)babcc
4)bcach

181) _r_psrqp__qps_q_
1)prrsqgs
2)srppqs
3)sqsrrp
4)pqrspr

186) bc a abab_ ca
1l)abcbc
2)bccab
3)abcch
4)bcach

182)ee g e fgg ef ¢

1)fgeeg
2)gfege
3)feege
4)geegf

187)b b b b bbb bbb
l)abaaa
2)babaaa
3)aaabb
4)babaa




1. 31eRT T 37T TH ODD ONE GROUPS OF LETTERS

wasT (188 & 207)

fger - fgw v AT # et &
IR Fg o aw 7 | fww wep

QUESTIONS (188-207)
DIRECTIONS :

In the given questions there are
four groups of letters of which three

are alike and one is different. Find the

W T | one which is different.

188) 1)ABCD,  2)DEFG,  3) KL, 4) PQRS,
189) 1)ADCB,  2)DGFE,  3)KNML,  4)PRSQ,
190) 1)AZBY,  2)DWEV, 3)GTHS,  4)JQLD,
191) 1) ACE, 2) TVW, 3)KMO,  4)FHI,
192) 1)ACEG, 2)KMOQ, 3)XZBD,  4)TUXZ
193) 1) UKL, 2) MNOP,  3)TUVW,  4)QRST,
194) 1)PRUY,  2)LNQU, 3)DEIM,  4)UWZD,
195) 1)ACDB,  2)PRSQ,  3)KMNL,  4)TWVU,
196) 1)AYBZ,  2)EUFV,  3)LNMO, 4)PKQJ,
197) 1)WTK,  2)PMJ, 3) HEB, 4) TQO,




198)  1)PKIQ, 2)WDBY  3)RIGT  4)FUSH
199)  1)RVTS  2)DIFE 3)QUSR  4) FIHG
2000  1)PRTVQ 2)ACEGB  3)EGIKF  4) LNOPM
201)  1)GILP 2) DFIF 3)JLOR  4) NPSW
202) 1) CRY 2) IVY 3) TRY 4) STY
203)  1)EGIN  2)BDGK  3)MNRV  4)ACF
204)  1)ERPD  2)0OGEQ  3)TYWV  4)HML
205)  1)CXGT  2)FIUR  3)JMQN  4) AYBX
206)  1)ANBO  2)GTIR  3)JWKX  4)LYMZ
207)  1)ADG)  2)FILP 3) MQTW  4) HKNQ




12, AT (37&X) ANALOGY (LETTERS)

weeT (208 ¥ 227) QUESTIONS (208-227)

fréer - RU v Rgedt F F TH Directions: Complete the given anology by

selecting the correct answers from alternatives.
W gART FreeFar it Hfaw) 8

208) BOOK : ANNJ : : PEN : ?

1) QFO 2)ODM  3)RGP 4) SHM
209) WALK : UYJI : : RUN : ?
1) PTM 2)QTM  3)TSL 4) QTN

210) SLATE : TNDXJ : : CHALK : ?
1)DIDPQ  2)DIDQQ  3)DJEPQ  4) DIDPP

211) SCHOOL : TBINPM : : FIELD : ?
1) GHFKE  2)GIFKE  3)GJGKE  4) GHFLE

212) MANGO : N1P7R : : ORANGE : ?
1) P17C15J5 2) P18D15J5 3) P18C14J5 4) P18B15K5

213) MUMBAI : 132113219 : : MYSORE : ?
1) 13251915165 2) 1325181518 3) 13251914155 4) 132519185

214) DESK : 57VK : : TASK : ?
1)213VK  2)223VK  3)214VK  4)215VK

215) CHAIR ? : : TABLE : UBCMF
1)DICJS  2)DIBJS  3)DIDJS  4)DIBIS

216) LAPTOP : TOPLAP : : TABLET : ?
1) BATLET  2) TELTAB 3)LETTAB  4) TLEBAT

217) BOARD : DROAB : : BLACK : ?
1) KCLAB  2)KBACL 3)KCABL  4) KCALLB




218) ABCD : ACBD : : PQRS : ?
1) PRQS 2)QPRS  3) RQPS 4) SRPQ

219) PQR : STU : : LMN : ?
1)NMN  2)NOP  3)0PQ  4)P0OQ

220) ABCD : ZYXW : : HIJK : ?
1)MNOP ~ 2)SRQP  3)RQPO  4)NOPQ

221) STUV: VUTS : : EFGH ; ?
1)FGHE  2)EFHG  3)HFEG  4)HGFE

222) AZBY : CXDW : : EVFV : ?
1)GTHS ~ 2)HTGS  3)SHTG  4)TGHS

223) BCD9 : EFG18 : : JKL33 :?
1)0QS51  2)OPR78  3)0PQ48  4) MNO42

224) BCDE : CBED : : JKLM : ?
1)JKIM  2)MNJK  3)KIML  4) MLK]

225) ABCD : WXYZ : : JKLM : ?
1)NOPQ  2)QPNO  3)PQON  4)NOQP

226) ABCD : 3579 : : EFGH ; ?
1)9,11,13,7 2)11,79,13 3)7,9,11,13 4)13,11,7,9

227) HLRD ;: 4692 : : TNFX: ?
1)10,7,6,12 2)7,6,10,12 3)12,107,6 4)10,12,6,7




13. 3Meyg (31&R)  MATRIX (LETTERS)

WS (228 & 247) QUESTIONS (228-247)
fager - ffw a1 fawedt & @ @@ Directions: Find the missing letter / number the
e e gawt amegg 1 R given matrix.
e i)
228) G | L 233) H 8 19

M O R L 12 15

S U ? R 7?7 9
HW  2)X  3)Y  4)z )11 2)3 3)18  4)16
229) M L | 234) A 1 [/

N M J M 13 N

0 N ? N 14 ?
HL  2)M  3)K  4)P P  2)Q 3N 4)M
230) N Q S 235) F F 36

L 0 Q L A ?

X ?7 C H B 16
A 2)Z 3)Y  4)D 1)25 2)49  3)64 4)26
231) J 16 L 236) | C 3

0 11 Q H B 4

B ? D Y 7% 5
)3 2)22 3)4 424 | 1)D  2E  3)F 4G
232) 1 B C 237) D B 2

A 2 C | C 3

A ? 3 ?7 D 4
1)1 2)B  3)C  4)4 )P 2)0  3)Q  4)R




g >
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N




14. @l (37&) CODING (LETTERS)

e (248 ¥ 267)

fder - R Ru v mat & oeg F&
2 & @ o § 3T F FE Aq
FT TE RAFeq FT 997 FIT ¢

QUESTIONS (248-267)

Directions: In the following questions a word

is return according to some code in each question
a word is given and find how this can be written
in the same code.

248) CARD &I frdly smem & DBSE for@a &1
ar DARE &I fa@a?

248) CARD is coded as DBSE in a certain
language. Then DARE can be coded as.

1) EBSG
2) ESBF
3) FBSG
4) SBEG

251) SCHOOL &I f=dr sirem & TBINPM for@a
£1 & FIELD = far@ar?

251) SCHOOL is coded as TBINPM in a certain
language. Then FIELD can be coded as.

1) GHFKE
2) GIFKE
3) GIGKE
4) GHFLE

249) PENCIL ' f&dY #mam & ODMDJK fama
g1 @ ERASER & faga?

249) PENCIL is coded as 0ODMDJK in a certain
language. Then ERASER can be coded as.

1) DQARDQ
2) DPZRDP
3) DQZRDQ
4) DQBRDQ

252) SCIENCE & frdY srar & 58 for@a &1
ar BIOLOGY & fa@a?

252) SCIENCE is coded as 58 in a certain
language. Then BIOLOGY can be coded as.

1) 85
2) 86
3) 87
4) 88

250) MATH & f=eft s & 0ZvG forma §1
ar TEST #r fa@a?

250) MATH is coded as 0ZVG in a certain
language. Then TEST can be coded as.

1) VDUS
2) VDUV
3) UDVU
4) VDUT

253) GEOGRAPHY @ fFdY smam &
YHPARGOEG far@d &1 @& ECONOMICS &t
forga?
253) GEOGRAPHY is coded as YHPARGOEG in
a certain language. Then ECONOMICS can be
codedas. 1) SICOMNCE

2) SICMONOCE

3) SICNOMOCE

4) SICMOMOCE




254) FRUIT #r freft s & 61821920
foraa &1 ar JUICE = foraar?

254) FRUIT is coded as 61821920 in a certain
language. Then JUICE can be coded as.

1) 10201035 1) QKBSF
2) 10211035 2) QKBUF

3) 1021935 3) OMZUD
4) 1021945 4) QMBUF

258) TRADE # frdt 91 # UKBEF
foraa &1 ar PLATE =1 @

258) TRADE is coded as UKBEF in a certain
language. Then PLATE can be coded as.

255) BOOK #I fdft smer & CQRO
or@a &1 @Y DOOR I r@a?

255) BOOK is coded as CQRO in a certain
language. Then DOOR can be coded as.

1) EQSV 1) VXDQ
2) ERSV 2) VzDQ
3) EQRV 3) vQCP
4) ERTV 4) UXDQ

259) ROAD #' f&eY mr & URDG
for@a &1 ar SWAN & for@ar?

259) ROAD is coded as URDG in a certain
language. Then SWAN can be coded as.

256) SHEET # fFsY st & 19HEE20
for@a §1 at FILES = for@ar?

256) SHEET is coded as 19HEE20 in a certain
language. Then FILES can be coded as.

1) 6ILE19 1) BGYEPYK
2) 6ile19 2) BGYPYEK
3) 6ile20 3) GLPEYKB
4) 6ile18 4) LKBGYPK

260) MIND # frft smer & KGLB
or@a &1 af DIAGRAM & for@ar?

260) MIND is coded as KGLB in a certain
language. Then DIAGRAM can be coded as.

257) CYCLE &' Tt smsm & CLY3L5
for@a &1 @ MOTOR =+ fr@#?

257) CYCLE is coded as CLY3L5 in a certain
language. Then MOTOR can be coded as.

261) BASIC & =t smsT1 # DDULE
for@a &1 ar LEADER # forgar?

261) BASIC is coded as DDULE in a certain
language. Then LEADER can be coded as.

1) M020015 1) NGCFGT
2) M019015 2) NHCGGU
3) M020P15 3) OGDFHT
4) MO19P15 4) OHDGHU




262) POETRY®T fFdT umar # QONDSQX
foraa &1 af MORE & fr@=?

262) POETRY is coded as QONDSQX in a
certain language. Then MORE can be coded as.

265) HAND is coded as SZMW in a
certain language. Then MILK can be coded as.

1) LNNQD 1) ORNP
2)111QD 2) PNRO
3) NLNQD 3) NROP
4) NLPQD 4) RNOP

265) HAND & f&dY 9mer & SZMW fraa
&1 ar MILK = for@a?

263) SUMMER &' f&dY amer # RUNNER
forga &1 af WINTER &' fraat?

263) SUMMER is coded as RUNNER in a certain
language. Then WINTER can be coded as.

1) SUITER 1) AIMTVT
2) VIOUER 2) AMJXVS
3) WALKER 3) MJXBSU
4) SUFFER 4) WXYZAX

266) DELHI ! ft st & CCIDD forga
g1 3 BOMBAY &I far@a?

266) DELHI is coded as CCIDD in a certain
language. Then BOMBAY can be coded as.

264) BOARD & f&dY st & EQBNC
forga &1 ar CLIMB & for@da?

264) BOARD is coded as EQBNC in a certain
language. Then CLIMB can be coded as.

1) DNLQFG 1) YNRIRE
2) DKJLF 2) DQHQMX
3) DNHMB 3) FSJSOZ
4) FNJRO 4) ERIRNY

267) SIGHT #' st T & FVTUG

forga &1 af REVEAL &' fr@+?

267) SIGHT is coded as FVTUG in a certain
language. Then REVEAL can be coded as.




15. dod IRG

VENN DIAGRAMS

g (268 @ 285)

fAder - A R v 3= sm@w A=
favgaedsit # Fraey Tarfid d &
3T 3T Geaey gl T T8l fadeq
T |

QUESTIONS (268-285)

Directions: The following Venn diagrams shows
the relationship among the three given objects.
Indicate the appropriate diagram to show the
relationship

‘@@@Q §©

.@ @D@DQ

268) Hesil, 3Tel, aMef
Vegetables , Potato , Cabbage

1) B 2) A 3)D 4)F

271) #HIST, STE, HASforAl
Human Beings, Tiger, Fishes

1)B 2)D 3)E 4)F

269) SAaR, $Is, Tderacer

Animals, Insects , Cockroaches

1)A 2)E 3)G 4)D

272) gV, f9ar, Rfscas

Males, Father, Doctors

1} € 2)H 3)G 4)D

270) 9fd, Yeadl, IRER
Husband , Wife, Family

1) A 9y 3)F 4)B

273) 5T, W, I
Brick , House , Bridge

1) G 2)E 3)D 4)B




274) o3, ST, FeARIA

Metals , Iron, Chlorine

280) RN, gferal, Hid

Sparrows, Birds, Crows

1) A 2)G 3)D 4) C 1) F 2)G 3)D 4) C
275) I, S99, Yo IS 281) @i, TAETHI, ATLTHATIT
Travellers, Bus, Train Writers , Teachers , Researchers

1) F 2) E 3)B 4) A 1) F 2)C 3)B 4) A

276) I1gl, 39dgl, R HAsel

Planets, Satellites , Solarsystem

282) gehrell, I, e Afhcas

Lawyers , Police , Surgeons

1) E 2)G 3)F 4) A 1) E 2)G 3)D 4) A
277) oI, BT, Tt 283) Heofl, WiaT, Fell
Boys , Students, Athletes Vegetables , Beans, Radish
1)D 2)E 3)C 4) G 1)D 2) F 3)C 4) G

278) TALTRAT, 8MAAl, SAATHR

Mammals, Elephants, Dinosaurs

1) D 2) E 3)C 4) G

284) IMIHI, Tdfhdl, HiaAT

Singers , Dancers , Poets

1)D 2)E 3)C 4) G

279) Hfg3i, AT, fFearsi

Women , Mothers , Widows

1)J 2} E 3)C 4) )

285) SRISHIR, a6}, IR ofler

Unemployees, llliterates, Poor People

1) C 2)E 3)A 4) G




16. T9aR 927 THOUGHT QUESTIONS

TeeT (286 & 295)

g¢ 3R Al I A |

e - A R 1w wRaAl # eaeYaw

QUESTIONS (286-295)

Directions: Read the following questions carefully
and find the answer.

FGl
afaH
3T

—

)
2)
3)
4) gfeyor

286) T foet geg WA 3T TSy 3MAA AMHA
e | 3R TS F Wors W F Sk aw o
| & a1 FE e feer w1 WE ar?

286) One day Morning Ravi & Raju met each other
face to face. If Raju's shadow exactly to the left
of Ravi. which direction was Ravi facing

1) East

2) West
3) North
4) South

27 |@IT &, ar B Y 37 gdBi

1) 7 a¥
2) 8 ay
3) 9 ay
4) 10 a¥

287) ABE A AT ST § | B, CH aNeH
SHFE | 3R A B3k c $rsa s aer  C.If the sum of the ages of A,B,C be 27 years

287) Ais 2 years older then B. B is twice as old as

then how old is B ?

1) 7 Years
2) 8 Years
3) 9 Years
4) 10 Years

ar G grem?

1) FUaR
2) IEEAR
3) UYFAR
4) faar

288) 3fTeT "WIHGN ¢| 59 &=l & aTg w7 288) Today is monday. After 59 Days what will be

the day ?

1) Wednesday
2) Thursday
3) Friday

4) Saturday




289) =i & IRfT FEATT H & Thcir

g ?

289) How many pairs successive numbers are
shifih TCATHT &1 Qe AT & 514 31 5 there in the following set of numbers, whose

difference is five ?

8,13,3,7,2,7,4,9,8,14,3,7,12

1) &1
2) IR
3) 9=
4) BT

1) Three
2) Four
3) Five
4) Six

290) AFAfaf@a deansit & wa A
fohdell X 3, 4 & Ygol 3R 6 & a5

3RT § ?

290) In the following sequence of numbers, How
many times 3 proceeds 4 and followed by 6 ?

6,3,5,2,6,3,4,5,3,4,6,3,6,3,4,2,6,3

1) ar
2) el
3) IR
4) 9=

1) Two
2) Three
3) Four
4) Five

291) forforer &1 Sear 22 Wﬁg&n
a1l wepefl, ffeham @ 10 f&o1 BT 81 3R
39 ¥ Tadadl fead HIar @ of, ar

gehell & SleAfee W el AT feeT ar?

1) HITER
2) gUaR
3) TAR
4) YHAR

291) Likitha was born on August 22nd. Prakruthi
Younger then Likitha by 10 Days. If the Indepence
Day of the that year was on tuesday. Which day is
birthday of Prakruthi ?

1) Tuesday

2) Wednesday
3) Thursday
4) Friday

292) wuRMieh 3R TRITA I 38 I 3Heured
4:3 & ST gl 3R eMRAh 6 a¥ 916 26

a¥ o7 grem, ar 3refr vend fohaer ay &1 87

1) 1
2) 15
3) 14

4) 13

292) Ratio of Shashank's age Prashath's is equal
to 4:3. If Shashank will be 26 Years old after
6 years. The present age of Prashanth is ?

1) 11
2) 15
3) 14
4) 13




293) T e 3t 7 AT 3% T & 293) The sum of three different numbers
T & | 39 & ga9 o 3 &2 equal to there product. Which is the smallest

number here ?

1) 9
2) 3
3) 2
4) 1

294) T& FHET H 60% BF d5H ¢ IR 294) In a class 60% of the students are boys and
397 # 30% AvodT  JATgUl el 50%  30% of them pass in distinction. Totally 50%
BT saar ¥ Aot ge | oY asfRat r of the students have distinction. Find the

3T rely S Avadr & &t ot g&2  fraction of the girls who have not passed in
7 °  distiction.

1) 1/10
2) 1/6
3) 1/5
4) 1/4

295) Ueh §I H Teh Uferdd # TR siig & 295) There are four lemon plants in a row in a
aley &1 gl dler gy ganT 3curfed wig.  garden. The first plant produces twice the

q Q[T 3culeel el 1 g@r e @ lemons produced by the second. The second
ot (AT ScueaT @ear ¢ 3R e =ty produces that of the third and the third

dier T IR AT IcuIeA AT &1 I T produces four times that of the fourth plant.
410 qlel & 3cqrea fFar omar &, ar ggar  If totally 410 plants are produced. How many
gler ¥ frge 3caresT AT did the first plant produces ?

1) 240
2) 250
3) 300
4) 200




17. 3ATa#TSTeh 3MThfc INTERSECTING FIGURES

QUESTIONS (296-300) g (296 & 300)

A Persons who take tea - ST 9T I o &

/O~
Persons who take coffee - ST @ieT HIthr ot & 20/7/ 15\ 30 \' 40
7 20
20

Persons who take milk - SiT &eT g ofd &

296)

Number of person who take milk gur o=t areit @r wear
1) 122 2) 171 3) 184 4) 67

297)

Number of person who take only coffee Faer wifr =t aret Hr FEar
1) 97 2) 15 3) 90 4) 45

298)

Number of person who take coffee or tea or milk
FIPT AT T AT GF ol arall I FE&AT
1) 204 2) 167 3) 169 4) 194

299)

Number of person who take milk only
FadT QU ol arell I FEdT

1) 45 2) 60 3) 144 4) 122

300)

Number of person who take either coffee or tea but not milk
FIS FIH! AT I W g & o aTall HI HET

1) 135 2) 82 3) 174 4) 154




18. SATMATAS 3Tl

GEOMETRIC FIGURES

weet (301 & 314)

fger - feu a1v 3@ # fafdrse
A 3ol i gear ggarfae
3R T@Er [eeu o=

QUESTIONS (301-314)

Directions: Identify the number of specified
geometric shapes in the given diaram and mark
the correct answer

301) & Y Il A fhaa &t 82
How many squares are there in the given
figur ?

1) 32

2) 30

3) 29

4) 28

304) & a3t mefa # fhasl 3maa 3R a9t 872
Count the number of rectangle and squares

in the given figure ?

1) 20

2) 18

3) 16

4) 16

302) &r Y i A fhaa Bepror g2
How many triangles there in given figure ?

1) 14

2) 15

3) 16

4) 17

305) & T mpfa F foraa Pepror €7

Count the number of triangles in the given

figure ?

1) 26

2) 28

/

3) 30

4) 27

303) & Y Il A fhaa @t 82
Count the number of squares in the given
figure ?

1) 8

2) 12

3) 15

4) 18

306) & Y aMFfT F fraar Brepror 3kt
Cril

How many triangles and squares are there
in the given figure ?

1) 28 f=roT 3 Tt 1) 28 triangles and 3 squares
2) 25 fepIoT 5 aet 2) 25 triangles and 5 squares
3) 28 fFehroT 5 T 3) 28 triangles and 5 squares
4) 24 YT 3 et 4) 24 triangles and 3 squares




307) & =Y 3mRfa & fraar smaa &2
Count the number of rectangles in the given
figure.

1) 8

2) 17

3) 18

4) 20

311) & =it iy & fFaa &t €2

How many squares are there in the given
figure.

1) 12

2) 13

3) 14

4) 15

308) & =T FHfA A el AAATR
TP &7

Count the number of Parallelograms in the
given figure.

aay .

[ /]
/ / / 3) 30
[/ ) a=m

1) 28

312) & T i # foraa Ferior 87
How many triangles are there in the given
figure ?

1) 10

2) 14

3) 16

4) 20

309) & T i # foraa Ferior 872
How many triangles are there in the given
figure.

1) 14
2) 16
3) 18

4) 20

313) & Y iy # fraar a9t €72
How many squares are there in the given
figure ?

1) 8

2) 11

3) 12

4) 14

310) & Y iy & fraa waewra €2
How many trapeziums are there in the given
figure ?

1) 10
2) 15

3) 16

4) 18

314) & a1t 3mpfa # forea amara €7
How many Rectangles are there in the given
figure ?

1) 16

2) 17

3) 18

4) 19




19. Feer@el 3R TAEIAT CODING AND DECODING

weeT (315 & 320)

fA&er - s Y Pl v v ¢ fowed
dicH 1 ersal dl 3T dicTA 2 348
Fraforrd s &l 9T WM & | IAh
& & Pl Ugdlada Hel 3R alil|

QUESTIONS (315-320)

Directions: In column -l words are given, their
codes are given under column-II find the codes

for the letters of words in column and
find the codesfor given words

Column-I Column-lI
ACRE omnXx
STUDY dwkfc
RUST cxwd
MANGO szpma
GARDEN kpzxmp
PUBLIC ngqlyd
DEVICE okvngo
315) MOST 318) CARD
1)sacw 2)swac 1) mnkx 2)kxmn
3)swca 4)acws 3)nmxk 4)xkmn
316) GOAL 319) NICE
l)apmg 2)mgpa 1)znoq 2)gqnoz
3)agpm 4)pamg 3)onzq 4)zgno
317) PIETY 320) DIRT
l)owqyf 2)ygowf 1) kgxw 2)wqgxk
3)fowyqg 4)gowyf 3)gxwq 4)x qw k




20. 3Thid 9T HITST COMPLETION OF FIGURES

TeeT (321 ¥ 326)

for&er - T fawed # AR IR QU

FIfST]

QUESTIONS (321-326)

Directions : In the questions given part of figure
is missing. Identify the missing part from among
the given choices under each question.

321)

Y

322)

2. 3 )
323) [\
?
1 2. 3 1




324)

Y

AN

? 12\

Y

325)

326) %&

\H

4444




21. 3MTpfd el - FIGURAL SERIES

g (327 ¥ 330) QUESTIONS (327-330)
e - T RheT TART s@en T Directions: The Questions given consist of
ffT series of figures, Which are incomplete. In order

to complete the series, Select the correct figure
from the given choices.

327)—>—O—>l—0
ULl
WA | N O
(8|7 R
S EArIEaR
AAEER!
330)AASAA
ANATATA




oo. WA/ 317 31Bfd ODD ONE FIGURE

799 -331 ¥ 336 QUESTIONS (331-336)
. Directions : In each of the questions there are
fcer: :ﬂ%ﬁq i m:ﬁ;ﬁr‘r 4 figures. Among this 3 are alike in someway.
g ikl Tr‘s“%‘ | 3T fetl While one is different. Find the figure which is
B 3BT TIT B ;
different.
1 2 3. 4

1. 2.

VAN
. a4
e

1. 2.







23. HIGY (3Pfd)  ANOLOGY (FIGURES)

Uod : 337 ¥ 341 QUESTIONS (337-341)

fder : Gy Mg gl A gl & Directions: % In the question ther is relationship

y@ﬁmﬁwﬁfe\aﬁmﬁmw between the first two figures. The second set

g1 3 Y BT TEATId §F 37Tef of figures of which one is missing. This missing

%@ et T STl I B o feiy figure is given as one of the four alternatives.
EUN Find the correct figure.

337)
X ¥
4 Va /a
N8 N N AN
/e & 4 PN
1 2 3 4
338)
1 2 3 4
Gy



m
A&FY

339)

/TN

>

>

340)

Al

K{/

)

341

RGN




o4,  3Tpiadl &1 fHeA™ SUPER IMPOSE FIGURES

TR 342 | 347 QUESTIONS (342-347)
er : fAfraferd weal # ar snpfaal Directions : In the following questions two
EF[A?:[ B & S 21 afg A figures (a & b) are given as problem figures.
3Tpiaar fAaT & SIg a1 it =8 Which of the following alternative figures would
371pfd gl 38 13T 77 fdbeal # 4 be formed if the 1st figure is super imposed on
BN the second figure.
342)
a) 1) 2)
b) 3) 4)
AN AR AR
| T TR
344) Ah
a) 1) 2)
O O|0O o
b) 3) 4)
O O O O|0O



2)

4)

345)

b)

347)




25. TMTST AISAT 31X B BT PAPER FOLD-PUNCH / CUT

7oq: 348 ¥ 352 QUESTIONS (348-352)

fror Freafaraa yodt f ermet @l Directions: In the questions given below a
feen FEeMI@R HigaR punch faar sheet of paper is folded and punched is shown
ST 31K fOe BTTST @Yt ST9 ) by figures. If the paper is unfolded how does it
PTGl TR T 31Thld gt appear? Select the correct answer from the

| among the alternative given.




350)

1 2 3 il
351)
;> ........ [\ o
/IN/TA
7A /A
0JO) 0]0)
00 00 00 8
/\ A JANRAN JANRAN A
1 2 3 4
352) fa
4o ;> AC
%
AN AVAVL Janl)| (UVvVv
Y WA AN AN AN
A/ VAV NAnl] [[]vv [
1 2 3 4




o6. NI 3R g
DICE AND CUBES

QUESTIONS (353-358)

353) fAer : e Y BITST B1 &Y 18
TPTT & AR g & T H HIST
ST aY R &F fauRRa feem &y sR A A
TRR B

353) Three different positions of dice or
shown below. How many dots dice
opposite to 2 dots ?

3)5 4)6

354) f3&er : afe Ud wrrTet w1 & 18
371pId & IR Y &b BY H AL
SITQ dT R oI faulka fem & iR s F
TR B

354) Three different positions of dice or

given based on them. Find out which number is
found apposite to the number 2 in the given
cube?

355) fAder : afE T BrTst Bl &

TS 3T b TAR 9Yd & B H
LIEISINGI —

- a?rﬁrcrﬁ?rﬁerra?rsﬁ?aﬁ——r@ﬁ%

) gad  2)fE®ior 3)fig  4) Bre

355) A Cube has 6 different symbols drwan over
it's 6 faces. Find out the symbols which opposite
to to the arrow — symbol ?

3) Dot 4) Cross

1) Circle 2) Triangle




356) T Tb BT B & M€ 377pfd & 356) A sheet of paper as shown in the figure is
ERRERE KK IEIE INGINERIG folded so as to form a cube. Select the correct

fem b 31K I & TR A7 o &) answer from the 4 alternatives in which the
pairs of faces are opposite.
o |+ + 0 +
o _l_ O O O
a. b. C. d.
1) a only

2) a, band conly
3) band conly

4)a,b,c&d
357) At Teb ISl Pl & T8 ATepfd 357) How many dots lie opposite to the face
HFAR T & B H /ST Y dT 3 having 3 dots when the figure is folded to form
bl fauRka f&=m & 3R o & TR 3 cube ?
BT
(o2
(o2
(O]
(0]
o |o o 1)2 2)4 3)5 4)6
(OJ6] O O
(0]
(0]
(0] o (0]
o O
358) T T BT Bl TE 37Tpfd & 358) A sheet of paper as shown in the figure is
3 zaq\zraaqscrﬁmamaﬁ ferafRa fe=m folded so as to form a cube. Select the correct
BI 3R P J TR 71 fag 2| T )
answer from the 4 alternatives in which the
pairs of faces are opposite ?
a | b
1)a,b;ce;df

c | d 2)a,f;bd;ce
3)ae;cf;b,d
4)a,d;cf;b,e




27.

SUuT Bfd  MIRROR IMAGE

79T : 359 ¥ 364

fAder : & g weat & 3R

99X 3 TTHY 3ATepTal T ST Y BH figures to the top of mirror indicated by lines
It o3 wefela 2t Tl ey and their images are given in one of the four

CIEN

QUESTIONS (359-364)

afe Directions: In the questions given there are

figures to below of there. Find the exact mirror
image of each figure.

359) 7
g
Al ¥
Y
A Al A
1 2 3 4
360) [ o |
ol
|
Ny, Ny, Ny, Ny,
slalzls
1 2 3 4

361)  TERMINATE

/LSS

J1VNINGAL 1EBNIMVIE TERMINATE ITAMIMAIT

1

2 3 /1




362)

1L

- [

363)

%
S

364)

FIXING

EIXINC
1

JlIXH
2

INIXIA
3

FIXING
4




og.  fodt 3mpfd  HIDDEN / EMBEDDED FIGURES

79T : 365 I 369 QUESTIONS (365-369)
_ A : Directions: In the following questions a
%éq%rg% G problam figure is given. The problem figure is

hidden in one of the figures given as
alternatives. Find the figure in which the
problem figure is hidden

. VAYTAN A AYaVA
el YAV ANEAVA
- 1 2 3 /]
366)
L]
/\
1 2 3 4
367) Zi
NS
1 2 3 /
368)
(iji O O O O
] JAN ]
1 2 3 /]
369)
<X
\< 1 2 3 /1




3dY
%1 : 1-369

Answers
Questions: 1-369




1 JEIT 8[@T~IT NUMBER SERIES

Q.No | key Hints '\l:lﬁ-ﬂ' Ans:
2, 20, 74, 98, 146, ?
1. 1 N T TN S S T T P P 146+24= 170
24 +48 +24 +48 +24
9, 13, 21, 3. 74 133
2. 1 B B R o Phe B P P 37+32=69
+4 +8 +16 +32 +64
1, d. 8, 16, ?, 107
3. 2 \/ \/ \/ \/ \/ 16+27=43
+0° +7 +2° +3 +&
?, 73, ?, 62, 55, 53 80-7=73
4. 1 e " TRt et B AT S 23-6=67
5 -6 i B -2 -
152, 149, 143, 131, 107, ?
5 3 TR DA R A e g "Ry 107-48=59
-3 -6 -12 -24 -48
6, 6, 7, 11, ?, 36, 61
6. 2 \/\/\{\{\Z/\Z/ 11+9=20
+O2 +12 +2 +3 +4 +5
42,61, 43, 40, 47, 32, 56, ?
42, 43, 47, 56, - 41, 40, 32, ? 32-27=5
7. i S W L
1 42 43 T =2 =3
11, 12, 13, 17, 25, 34, ?
g | 1 \/\/\/\/\/\/ 34+27=61
1 +1 +2 +2 +3 3
6, 25, 62, 123, ?
9. 1 4 9% @9 492 B3 & areresZis
b, 8, 31, 20, 129, ?
10. 2 5 36+4=40

3 3 2 3 2
1+4 2+4 3+4 4+4 5+4 6+4




11. N NN | nru=a
6 24 60 ? 210 3
2 22 33 44 55 66 SRS
13. ms 4+5=9
" 6 12 36 72 216 432 7 | as2xa- a0
15. W ? 14+8=22
16. 240+5 ‘?4 1%3 42 2+1 2 240 +5=48
17. Wﬂ 19+10=29
N 215 7 63 26 1 0 | g,

3 3 3 3 3
6-1 5-1 4-1 8-1 2-1. 1-1




2. H@dl # Ied G HT TIA

WRONG NUMBER IN THE SERIES

Q.No | key Hints Hohd
n+n=1
19. 3 2 2 2
0+0=0,1+1=2,2+2=6
3 3 3
20. 9 1-1=0,2-1=7,3-1=26
2X2+1 =5 2X5-4=6
21; 4 2X3-2=4 2X6+5 =17
2X4+3=11 2X7+6 = 20
2. | 1| 0.1,2,3,4,5
(@M & &) (From right to left)
23 3 +,1,0,-1,-8,-27
3 3 3 3 3 3
Zr 1101(-1)1('2)1(_3)
| s 1, 2, 3, 4,5
' 1 2 9 64 625
YR
L, 25 35.8 5
25, 2 N PN e Y
1 8 9 256125
2 ;3 ed; dd ; 13 18 1.7 19
26. | 2 | Faer 15 & AT @Eam §, 37 3T §&a] §
15 is the only composite number. Others are prime numbers
(7,9) TE 3TATST TEIAW el &
27. 1 3 | (7,9)is not a Co-prime numbers.
8 4 b 1
28. | 1|5 =4 5 =2 > =1 5-=05




/\/\

29. 5 4 11 8 17 28 4+12=16
\/\/
0 1 8 26 64 125 ;
28 o T 2 31 4 5 3=27
10 50 120 170 290
31. I T N < - T 120
3. 1 2 9 64 525 & = 625
10 1 32 43 54
33. ?;2 (?(3 12)(4 72)(5 36[)](6 2160 6X3=18
- 56 60 68 86 96 68+ 12 = 80
. \/\/\/\/
4 8 12 16
35 6 12 20 30 42 54 S 7= 66
22+2 32+3 42+4 52+5 62+6 72+7
36, 11 30 67 122 219 122

%3 33 443 &3 i3




3. 37619 HEAT Al Idd ODD ONE NUMBER

Q.No

key

Hints W

Ans:

3/.

1)11,13 2)17,19 3) 23,27 4) 29,31
Ramaining pairs are prime numbers
AY FANT AT TEIAW §

29,27

38.

1) 36,25 2)64,36 3)81,64 4)100,81
Difference of numbers is prime number
HEIT3T T 3aT AT T&AT &

64, 36

39

1)144  2) 225 3)256 4) 324

Sum of the digits is 9 except 256
256 I BIS HT eIl TEAT3T o 37l &7 T 9 ¢

256

40.

1) 11 2) 24 3) 39 4) 49
Product of the digits of the number is cube number
TEAT & 37hT FT 3¢9 Ugol 31k FT ol &

49

41.

1)90,72 2) 110,131 3) 30,20 4) 96,42

Pair of numbers i in the form of n+n & n-n
m&ﬁ_#ra’ré’rnm&n NFFTHE

110, 131

42.

1) 39 2) 31 3) 23 4) 17
Remaining numbers are prime numbers
AY HEIW 3T AEIAW &

39

43.

1)121  2) 242 3) 253 4) 284
Sum of first & last digits is the middle number

g 3T AF 37T &1 AT AT gEAT §

284

44,

1) 4123 2)4213 3) 5204 4) 6427
Product of the first & last digits is the middle number
s 3R AT 31T &7 3cule AT @E&AT §

4213

45.

1)101  2)114 3)118  4)129

Third digit of the numberisthe dEar 1 FTT 37F ggar 3R
square of the sum of 1st & 2nd digit GEY 3i® & JNT & 9T §

118

46.

1) 2347 2) 2356 3) 2383 4) 2391
Sum of the digits of the number is 4=16

TEAT ¥ 3R T AT 4216 F

2391




3. 376197 G&AT Sl II ODD ONE NUMBER

Q.No

key

Hints Tohd

Ans:

47.

1)8 2) 217 3) 63 4) 125
Except 63 remaining are cube numbers
63 I BIS HT Tl GeT &AW §

63

48.

11,0 2)38 3)7,48 4)9,82

Except 9,82 remaining are in the form of n,n*1
: & 2 ¢ W
9,82 Fr BIS T @ FEAE N,N-1 % T H §

9,82

49.

1)511  2)117,23 3) 31,37 4)41,47

Alternate prime numbers.
JcIIadl 38T A&AN

31,37

50.

1) 72 2) 132 3) 156  4)192

except 192 remaining are product of conscutive numbers

192 &Y B FT FH THMAR FE&IABIT F 3cug &

192

9l

1)213  2)120 3) 61 4) 24

Except 120 are in the form of n*3
120 F DS X G -3 % &7 & &

213

92,

1) 10 2) 35 3) 26

Except 35 are in the form of n+1

35 OI8 & g i+ld &7 & &

4) 17

35

93

1)520 2)7,30 3)8,35 4)12,60
Except 12,60 are in the form of n, nx5-5
12,60 & ©Is & @ n, nx5-5%F §T H @

12,60

54.

135 2) 30 3) 61 4) 122

Except 30 the remaining numbers are in the form of n*3

A TS F AT n3&F T H &

CFIO

55.

1131 2)141 3) 151

Except 171 are prime numbers
171 T BIS FT Tl 31T &AW ¢

4) 171

171

56.

1) 6 2) 23 3) 62 4) 123

Except 23, 2 is subtract from the cube number.
23 &I OIS H AT A g7 T&IT § 2 9T AT §

23




4. JATE2T TEAT ANALOGY OF NUMBERS

Q.No | key Hints Tohd

57. | 1] 3:5::6:8

58. 3 2:2::6:6

59. 4 n:2n

60. 3 n:n

61. 3 n:n

62. 3 n.n

63 | 1| wivx ——  36:63::32:23
S *—

2
64. | 2 | M:(n+2)-1

65. 2 Lt

66. 3 | 2:0




4. T TEAT ANALOGY OF NUMBERS

Q.No | key Hints Johd
67. | 2 n-l:n+1—>4-1:4+1
68. 3 1+42+41=F=2 9+6+1=M6=4
3 3 3 3
69. 3 2+3:3+3::4+3:5+3
2 3 2 3
70. 4 6/8:(6+1)/8::9/7:(9+1)/7
2 3 2 3
11 2 T~ %l 56154 +1
3 3 3 3
72, 2 1+42:242::3+2:4+2
3 3
73. 4 6:6+1::8:8+1
2 2 2 2
74. 1 66284850 10+10211 %11
75. 4 A41:6-1::5+1:7-1
| 2. -3
76. | 3 5/7:(5+1)/7-1::3/5:(3+1)/5-1




5. 3Mcgg HEAT MATRIX (NUMBERS)

Q.No | key Hints el Ans:
5 8 7 5x2%11.=21
77. | 4111 17 15 8x2+17 = 33 29
21 33 ? 7x2+15 = 29
5 11 36 5+11=36
2
78. | 3111 4 125 11+a=125 31
2
15 ? 256 15431 =256
6 8 24  23-(3x2)=11
79. | 2| 23 73 113 73-(18x2) =37 65
11 37 ? 113-(24x2) = 65
4 6 8
20l 4l 9 » 1 A%8=6 1%6215 9%11 10 10
14 15 16
ke @ 2d 12x4 _ . 16X5 18x6
g1. | 4| 16 5 40 =2C-24 g0 2P-ss 54
18 6 ? 2 - 2
11 12 25 1+1+142=5=25
2
82. 1 21 30 36 2+1+3+0=6=36 21
32 ? 64 3+2+2+1=8=64
12 64 8  (12:8)=64
83. 1 25 ? 20 (25-20)3= 125 125
32 216 26 (32-26) =216
a1 | 2| 4 49 15 415=49 121
5 ? 4 524 = 121
36 64 25 36+64+25 = 125
gs | 2 49 49 27  49+49+27 =125 36
81 ? 8 81+36+8 = 125
6 2 32 62=32
22
6. ) > 3 16 52-32= 16 33
7 4 2 7-4'=33




5. 3Tcgg HEAT MATRIX (NUMBERS)

Q.No | key Hints Hohd Ans:

3 8 7 3+8+7 =18

87. | 1] 9 4 2 9+4+5 = 18 5
6 7 5 6+7+5=18
17 13- 15 (17+13)+2 =15

88. | 319 12 (9+15)+2 = 12 15
8 7 (8+6):2 =7
28 30 32 (28+32)+2 = 30

89. 3 136 45 54 (36+454)+2 = 45 68
42 55 ? (42+68)+2 = 55
4 6 10 4-6 =10

9. | 2|6 8 28 68=28 54
8 10 ? 8-10 =54
5 ? 4 5+4 = 29

91. | 2|6 41 5 6}5 = 41 29
7 55 6 7+6 =55
4 2 14 4-2 =14

2

92 | 3|5 4 21 5-4=21 6
6 ? 30 6-6 = 30
8 18 15 (8x3)/2 =12

93. | 2 ||3 4 6 (18x4)/2 = 36 45

vi2 36 ? (15x6)/2 = 45

25 40 36 25-(3x4) = 13

. | 2|2 § 2 4oE3)=22 11

¥13 22 ? 36-(5x5) =11

5 9 7 5+8=13=M

o5 | 2|8 14 13 9+14=23=W T
M W ? 7+413=20=T

2 2

4 6 41  (4+6/2)=7=49

9. | 3|5 8 81 (5+8/2)=9=81 v
6 7, 100 (6+8)/2)2= 10°= 100




6. Ohd YTAE2ATYT SUBSTITUTION OF SIGN

Q.No | key Hints Hohd
97. 2 3X4-2=10
98. 1 42 +6X7-9=40
2X4+12-6+3<24
99. 3 8+12-2<24
— 18<24
100. 4 9X81+9=81
101. 1 1+42-3X4<5 — <5
102, 5 0+1X7>4+0
— 7>4
103. 3 49+-7X6-2=40
104. 4 8X2-4=12
105. | 2 5X3+3=18
106. 4 6+7-3=10




6. Hohd UTAE2ATIeT SUBSTITUTION OF SIGN

Q.No | key Hints dohd
107. S 10x2-14=6
108. 1 6+3.X7 210

109. 2 5x18+6=15
110. 3 24+2-2=10

i iy P 1 48 +6=8-3+3
112. 3 36=12x4-36+3
113, 4 30x8+4=36+24
114. 2 12x4+4=16-4
115. 4 12+6-5=13
116. 2 30+6-3=2

117 1 6-16+8<5

118 4 7x4+5=33




7. HEAT AT ohd ohl dcoldl
INTER CHANGING THE SIGNS AND NUMBERS

Q.No | key Hints ohd Ans:

119. | 4 7+3x5 =26 7x3+5=26
120. | 2 8+3=1-3 8-3=1+4
121. | 3 6+4-3=5 6=4-3+5
122. 1 16=8+4+14 16=8+4+14
123: 3 32x8=4-6 32-8=4x6
124. 1 4 14+6x3=4x6+2 14+4x3=6x4+2
125, 2 5+3x6=7x3-2 3+5x6=7x5-2
126. 1 11+6x7+7=84 7+6x11+11=84
127 3 5+2+4x6=17+5 6+2+4x5=17+6
128. | 4 8-1x4=49-1+1x3 1+8x4=49+8-8x3

GMAT - 68



8.3TTehal 3T TEAT A TFET FIGURES AND NUMBERS RELATIONSHIP

Q.No | key Hints Tohd Ans:
129. | 4 | 4x5+2x6 = 26— 8x9+7x6 = 114 114
2 2
130. | 4 | (10+6-3) = 169— (13+10-8) = 225 225
3 3
131. | 2 | (85)=27— (18-13)=125 13
2 2 2 2 2 2
132. | 3 | 3+4=5— 8+6=10 10
30+34=28+36=64=8 2
133. | 4 | —>70+74=61+83=144=12 83
134. | 2 | 849+10=27=3">43+40+42 =125 =5 42
8 11, 15, 20, 26, 33, 41, 50
135 | 1 | AN NS 50
3 4 5 6 7 8 9
749+11+13 = 40+2 = 20 H
136. | 2 | — 100+25+50+75 = 250 +2 = 125 2
137. | 1 | 4+16+25+4=49=7"—> 25+16+36+44=81=9" 4
2
138, 1 1424344 = 10+2=5=25 144

—> 3454749 =242 = 17 = 144




8. 3Tehal 3T TEAT # TFFET  FIGURES AND NUMBERS RELATIONSHIP

Q.No | key Hints Tohd Ans:
139. | 4 N2+14+20=\36=6—>\43+29+9=\81=9 9
140. 1 | (2x4x3)2=24x2=48—>(2x3 x7)2 = 42x2=84 84
141. | 2 | (15-7)(23-8)=8x15=120—>(20-8)(13-3)=12x10=120 120
142. | 2 | 8+4+12=24+3 = 8—>18+12+9=39+3 =13 13
143. | 2 | (15-5)(12-4)=10x8=80—>(13-5)(15-6)=8x9=72 72
144, | 1 | 8+7+6+5=26+2 = 23 —>16+15+14+13=58+2=29 29

e : 324
145. | 4 | 1+2+3+5=11=121—>3+6+5+4=18=324
3 3
146. | 3 | (6-4)=8—(9-4)=125 125
147. | 3 | 9x3-7=20— 13x4-12=40 40




o. HEATHT oI qHg 3R T9=IH SET OF NUMBERS AND RULES

Q.No | key Hints Hohd
120, 336, 720, 1320,
148. 4 53_5’ 73_7 93-9, 113-11
14, 84, 155, 258
149. | 2 Bh s 54545 64646
13, 23, 55, 103
150. 1 1 X245 3x2+45 SX245  Tx2+5
20, 48, 80, 120
15111 66x2 882 10102 12°12x2
10, 24, 44, 70
152. 1 4 H32 333 4x3-4 5X3-5
7, 23, 77, 205
153. | 4 X245  3%245 6x2+45  10x2+5
3, 39, 258, 1110
154. 1 2 T+f+1 34343 6+6+6  10+10+10
6, 24, 60, 120
155. | 3 2, 23 P4 5-5
3, 8, 15, 24
156. 2 32.2x3 42.2x4 52-2x5 62-2x6
120, 143, 168, 255
15%. | 2 172x12 132x13  142x14  17-2x17




o. AEATHT T FHE 3 TATH SET OF NUMBERS AND RULES

Q.No | key Hints Hohd
130,, 13, 69, 32
158. | 4 s, 245 445, 345
10, 24; 42} 106
159. | 2 545 1945 3145 10145
220, 20, 95, 395
160. | 1 & 25 16:5 26-5
30, 45, 85, 105
161. 1 5x5+5 8x5+45 16x5+5 20x5+5
31, 76, 139, 116
3, 12, 36, 84
163. | 4 fdd s 3343 deada
36, 42, 46, 58
164. | 2 3145 3745 4145 53+5
76, 139, 164, 251
165. | 1 &5 175 13-5 16-5
130, 221, 517, 734
166. 3 545 645 8+5 9+5
20, 55; 70' 95
167. 2
3x5+5 10x5+5 13x5+5 18x5+5




10. 37877 &BQET LETTER SERIES

Q.No | key Hints ovd) Ans:
168. | 1 abc/ bca/cab/ab bbaba
169. 1 abc/bca/cab/abc bccab
170. | 3 cab/cab/cab /cab accha
171.| 4 | cba/cba/cba/cha bccab
172.| 1| pars/arsp/rs pg/spar qqssppq
173.| 2 | ikIm/klmj/Imjk kmkmmk
174. | 1 | xyz/zyx/xyz /zyx yyzz
175. | 4 | abcd/a bcd/ab bcaba
176.| 1 | mnop/nopm/opmn hopmm
177. 1 2 | ik L/ikL/jkl/ ikl kIlkj




mxsﬂHT‘ﬁﬁgaTLETTERSERms

Q.No | key Hints W Ans:
178. | 4 abcb/abcb/abcc/abcb/ab cbcaa
179. | 2 aabc/bbca/ccab acca
180. | 3 | xyy X/xyyx/xyyx yxxy
181. | 3 | srap/srqp/srap/srap sgsrrp
182. 1 eefgg/eefgg/eefgg fgeeg
183. | 2 aabbcc/aabbcc/aabbcc acba
184. 1 b-ccbfbeccb/beceb cbcb
185. | 2 cabbac/cabbac/cabbac acbch
186. | 3 abc/bca/cab/abc/bca abcchb
187. | 2 bbba/bbba/bbba/bbba babaaa




1. 3TERT oAl 3TeTdl e ODD ONE GROUPS OF LETTERS

Q.NO key Hints Qqa‘_‘*(:l
112|(3|4|5(6|7|8]|9(10(11|12(13
A[B|IC|[DIE|F|G|H|IT]|J|K|[L|[M
NIO|IP|QIR|[S|T|U|VIW|X]|Y|Z
Z|Y|X|W|V|Uu|T|S|R|Q|P|O|N
26|25(24123(22|21(20|19(18|17(16|15(14

188 3 1) ABCD, 2) DEFG, 3) UKL, 4) PQRS,

' All the three sets contain ovel Ans :- PQRS

189 A 1) ADCB, 2) DGFE, 3) KNML, 4) PRSQ,

' PRSQ instead of PSRQ Ans :- PRSQ

190 5 1) AZBY, 2) DWEV, 3) GTHS, 4) JQLD

' AYBZ instead of AZBY parallel letters of 1st & 3rd row Ans :- AYBZ

191 1 1) ACE, 2) TVW, 3) KMO, 4) FHI,

' 2 Letters gap Ans :- TVW

192 4 1) ACEG, 2) KMOQ, 3) XZBD, 4) TUXZ,

' No gap between T & U Ans :- TUXZ

193 3 1.5 L 2) MNOP, 3) TUVVW, 4) QRST,

. Atleast one ovel is present Ans :- QRST

194 3 1) PRUY, 2) LNQU, 3) DEIM, 4) UWZD,

. No gape between D & E gaps are 1, 2, 3 letters Ans :- DEIM

105 3 1) ACDB, 2) PRSQ, 3) KMNL, 4) TWVU,

' TWVU instead of TVWU Ans :- TWVU

196 5 1) AYBZ, 2) EUFV, 3) LNMO, 4) PKQJ,

' GTHU instead of GUHT cross letters of 1st & 2nd row  Ans :- GTHU

197 4 1) WTQ 2) EMJ, 3) HEB, 4) TQO,

-2 Letters gap Ans :- TQO




1. &R T 3TeTdl Es (S ODD ONE GROUPS OF LETTERS

Q.NO key Hints m
1(2|3(4|5|6(7(8]|9]|10|11(12(13
A|IB|CID|E|F|G|H| I [J|[K[L|M
N|O|P|Q|R|S|T|U|[V|W|X|Y]|Z
Z|IY|X|W|V|IU|T|[S|R|Q|P|O]|N
26(25124123(22|121|20(19(18|17|16|15|14

s | 1) PKJQ, 2)WDBY  3)RIGT 4) FUSH

' Parallel letters Ans :- FUSH

0o | 5 | DRVTS  2)DIFE 3)QUSR  4) FIHG

' RSTUV One letter gap between T & V Ans :- DIFE
o 1) PRTVQ 2) ACEGB 3) EGIKF 4) LNOPM

' One letter gap Ans :- LNOPM
- . 1) GILP  2) DFIF 3) JLOR 4) NPSW

' 1,2,3 Letters gap Ans :- JLOR
200 ) 1) CRY 2) IVY 3) TRY 4) STY

. Rhyming words except IVY Ans :- IVY

s | 5 | DEGIN 2)BDGK  3)MNRV  4) ACF)

. 1,2,3 Letters gap Ans :- MNRV

-_ ’ 1) ERPD 2)0OGEQ 3)TYWV  4)HML

. Parallel letters Ans :- ERPD

o | | VCE o 2)KNQ 3) SVY 4) GJM

. 2 Letters gap Ans :- SVY
— . 1) AEIM  2) DHLP 3) LPTW 4) PTXB

' Three letters gap Ans :- LPTW
207 ] 1) ADGJ 2)FILP 3) MQTW 4) HKNQ

. 2 Letters gap Ans :- MQTW




12. TTET (378TX) ANALOGY OF LETTERS

Q.No | key Hints Tohd
B-1s A P1y»0
208. | 2 o-lsN E-1»D
K-1» N> M
W-=2» U R=2» P
A-Zsy U=%>s
M-2» |
ST E2») Li»p
L2»N Cc2»D KE»P
210. | 4 A3»D H2» |
T X A®3»D
st»T17 o pP EXsF
Cl»B LIxM LI»k
oO-»N |-»H
ME> N ;
A—> | O=»P N—14
212. 3 N *2, P R—»18 G» )
e A4 C E—>5
Sy
M3 4 A—1l, B—2, Z—»26,
T—» 20+1—>21 D— 441 — 5
A— 1+2 — 3 E—» 542 — 7
214, 1 Sy vy 3— V
K2 K K— K
215, 2 A—B B—C, C—»D
| s\
T34
2T 4 BOARD — DRAOB




12. T (378Y) ANALOGY OF LETTERES

Q.No | key Hints ohd Answers
ABCD : ACBD :: PQRS:?

218. 1 Middle letters reversed PRQS
PRQ:STU::LMN:?

219. 3 Continuos letters OPQ
ABCD : ZYXW : : HUUK : ?

220. ! Extreme letterS A—7Z B—Y C—»X SRQP
STUV : VUTS :: EFGH : ?

221. 3 Reverse order HGFE
AZBY : CXDW : : EVFV:?

222. 1 Parrellel letters GTHS
BCD9 : EFG18 ::JKL33:?

223. 3 Sum of the order of the letters OPQ48
BCDE : CBED : : JKLM : ?

224. 3 Middle letters and extreme letters KGML
ABCD : WXYZ :: JKLM : ?

225. 1 Parellel letters in reverse order NOPQ
ABCD : 3579 :: EFGH : ?

226. 3 +2,+3,+4,+5 are added to order of the letter 7,9,11,13
HLRD : 4692 : : TNFX : ?

227. 1 Order of the letters is divided by 2 10,7,6,12




13. 3Tegdg (31&X) MATRIX (LETTER)

Q.No | key Hints Tohd
228. | 2 G312 (Row) ufa
229. | 3 M—> N— O (column)) &&=«
230. | 1 N-3>Q*2S (Row) dfFa
231. | 4 A—1, B—2, C—3
232. | 2 A—1, B— 2, C—3
ftCoIoumn anCoIoumn
233. | 3 A —»1 A —»26
B—2 B—25
A=1=7
F— 6, FXF = 6x6 = 36
235.| 4 Z—26 A—1,  ZxA=26x1=26
|+C=9+3=3
236.1 21 H:B=8:2=4
2
B—2 :(2)=4—D :
237. | 1 2) (Row ) df¥q

C—3 :(3)=9—1|




13. 3TeYg (31&R) MATRIX (LETTER)

Q.No | key Hints dohd

238. | 4| T VX (column) &wsr

239. | 4 N2> Q2»L (Row) g

240. | 3 HL2»p (column) wass

241. | 1 DxF=4x6=24=X (column) =&
22. | 3 R-1]=18-10=8—J (Row) dufaa
243, 2 V-G=22-7=15=0 (column) =
224. | 3 |+L=9+12=21=U (column) s
245, 1 Hto Q8 lettersgap (Row) ufga

246. | 3 P-J=16-10=6=F (column) ¥&s
27 | 2 15-10=5=E (column) waFs

GMAT - 80



14. heel@sl (378TX) CODING (LETTERS)

Q.No | key Hints IOohg

Ci» D Dty E
A*l» B Ais B
248. 1 2 RE>S R>S
D> E Et» F
P1»0 | Ly )
E-»D L 5> K
249, | 3. | g5
Ci» D
S T
250. p . UZs»Ww
N> Q
M-+2» O
Als 7
5 | | Fasy
H-1l» G
SCIENCE — 19 +3 +9 +5 +14 +3 +5
257, i

— 58

K — 4
253. | 2. GEOGRAPHY=Y HPARGOE G
V\/f

254. 3 A—»1 B—2, .—» 26

~

B » C
0 2» Q
255. | 3. 0 3» R
K *» 0
SHEET
256. | . Ll A—>1,  B—»2
19 hee 20
CYCLE
5. 1| vyiid
CY3LS5




14. heollel

(3787Y) CODING (LETTERS)
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15. d9 39  VENN DIAGRAMS

Q. No| Key
Vegetables
268.1 4 Potato
Cabbage <« ngg
Animals < u
269.1 3 Insects Q zﬁg
Cockroaches «
Husband
270.1 3 Wife eﬂzﬁ
Family E
Human Beings Fl_g"&'l
271.1 2 Tiger
Fishes
Males
272.1 2 Father ﬁ?n
Doctors
Brick
273.] 4 House n-cmtr
Bridge <
Metals O >
274.1 2 Iron 4—(@—> GIE|
Chlorine < > FARA
Travellers RIES
275.1 1 Bus g9
Train < AR GRIIE]
Planets m g
276.1 3 Satellites mm

Solarsystem <

N e



Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
वेन आरेख

Sonal Gupta
सब्जियां

Sonal Gupta
आलू

Sonal Gupta
गोभी

Sonal Gupta
जानवरों

Sonal Gupta
कीड़े

Sonal Gupta
तिलचट्टे

Sonal Gupta
पति

Sonal Gupta
बीवी

Sonal Gupta
परिवार

Sonal Gupta
मनुष्य

Sonal Gupta
बाघ

Sonal Gupta
मछली

Sonal Gupta
पुरुष

Sonal Gupta
पिता

Sonal Gupta
चिकित्सक

Sonal Gupta
ईंट

Sonal Gupta
मकान

Sonal Gupta
पुल

Sonal Gupta
धातु

Sonal Gupta
लोहा

Sonal Gupta
क्लोरीन

Sonal Gupta
यात्री

Sonal Gupta
बस

Sonal Gupta
रेल गाडी

Sonal Gupta
ग्रह

Sonal Gupta
उपग्रह

Sonal Gupta
सौर मंडल


d9 3% VENN DIAGRAMS

Q. No| Key
Boys GECE
277.1 3 Students < > B
Athletes ( ) >  TdlC
Mammals <« o—> AT wToht
278.|1 4 Elephants 4—@—> greft
Dinosaurs > SITATER
Women 47/—\v> Afgam
279.1 1 Mothers < \@/ » HI
Widows < < N GBI
Sparrows < > TR
280.1 1 Birds <©Q>> farfgan
Crows < > P[]
Writers GESEE)
281.] 2 Teachers IR
Researchers oeIhdi
Lawyers < R YA NG
282.1 3 Police gfeid
Surgeons o fafdreads
Vegetables m Taoit
w2 SO0 T
Radish > Hell
Singers
284.1 3 Dancers :ﬁfﬁ
Poets
Unemployees <
285.1 1 llliterates ﬁ'{&[q
Poor People TR

GMAT - 84


Sonal Gupta


Sonal Gupta
वेन आरेख�

Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
लड़के�

Sonal Gupta
छात्र

Sonal Gupta
एथलीट

Sonal Gupta
सस्तन प्राणी

Sonal Gupta
हाथी

Sonal Gupta
डायनासोर

Sonal Gupta
महिला

Sonal Gupta
मां

Sonal Gupta
विधवा

Sonal Gupta
गौरैया

Sonal Gupta
चिड़िया

Sonal Gupta
कौआ

Sonal Gupta
लेखक

Sonal Gupta
अध्यापक

Sonal Gupta
शोधकर्ता

Sonal Gupta
वकील

Sonal Gupta
पुलिस

Sonal Gupta
शल्य चिकित्सक

Sonal Gupta
सबजी

Sonal Gupta
सेम

Sonal Gupta
मूली

Sonal Gupta
गायक

Sonal Gupta
नर्तकी

Sonal Gupta
कवि

Sonal Gupta
बेरोजगार

Sonal Gupta
निरक्षर

Sonal Gupta
गरीब


16. [T god THOUGHTFULL QUESTIONS
Q.No | key Hints Jdd
N
| l 3
286. | 3 ﬁ g E W gfogy
! ! afamr
C =X B = 2X

287. 4 A = 2X+2

TCTE & D e ol 7 &A1 & d1e AT SIraT &
288. 2 Each day of the week repeated after 7 days.
289. | 2| (8,13),(2,7),(4,9),(7,12)
290. | 1] 63,526][3]45,3,4,6,3,6/3]4,2,6,3

AT T STHIG 22 37T 81 SH dRE Ugcit (IdeR Pl Fepld bl ST
291. | 4 | 21 15 37 A@AR g1 15 3R fGdeR 1 & o9 &A1 & d@=am 17 &1

i 17 - 14 = 3, UBAR Bl Tpld BT STHIA Bl

Q[ bl 3IR Y2id Bl 39 BHI: 4x 3R 3x &+ | SHIAT 2r2lich Bl 39 6
292. 2 | 9T 91 4x + 6 = 26 BT AT x = 51 dY, Worid b 3% 3x = 15 49 2|
293 | 4 | 1+2+3=1x2x3

el P 2Aferd 100 §1 BT H TShb] bl HWIT 60 &1 P& H cTsibd] bl HHAT 40 &1
7294 4 [P Issar § Jeftv € 3BT WA 30% & S 18 B i rsfebar ST § Jniiof € Ay

' TAT 32 ¢ AT Asfdhal &Y Twar S Assar I 3ol Tt € 8/40 = 1/5

4 O H Aig bl T x B &1 fY 24x + 12x + 4x + x =410 =41x = 410. x =

295, 1 | 10. ST 1 dte A g by A 24x = 240 €1



Sonal Gupta
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Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
विचारणीय प्रश्न

Sonal Gupta
संकेत

Sonal Gupta
राजू

Sonal Gupta
रवि

Sonal Gupta
उत्तर

Sonal Gupta
पश्चिम

Sonal Gupta
दक्षिण

Sonal Gupta
पूर्व

Sonal Gupta
सप्ताह के प्रत्येक दिन को 7 दिनों के बाद दोहराया जाता है

Sonal Gupta
लखित का जन्मदिन 22 अगस्त है। इस तरह पहली सितंबर को प्रकृति का जन्मदिन है। 15 अगस्त मंगलवार है। 15 और सितंबर 1 के बीच दिनों की संख्या 17 है। क्योंकि 17 - 14 = 3, शुक्रवार को प्रकृति का जन्मदिन है।

Sonal Gupta
शशांक की और प्रशांत की उम्र क्रमश: 4x और 3x बनें। इसीलिए शशांक की उम्र 6 साल बाद 4x + 6 = 26 होगी। इसलिए x = 5। तो, प्रशांत की उम्र 3x = 15 वर्ष है।

Sonal Gupta
कक्षा की शक्ति 100 है। कक्षा में लड़कों की संख्या 60 है। कक्षा में लड़कियों की संख्या 40 है। जो लडके श्रेष्ठता से उत्तीर्ण हैं उनकी संख्या 30% है जो 18 है। जो लडकियाँ श्रेष्ठता से उत्तीर्ण हैं उनकी संख्या 32 है। इसलिए लड़कियों की संख्या जो श्रेष्ठता से उत्तीर्ण नहीं हैं 8/40 = 1/5

Sonal Gupta
4 वें पौधे में नींबू की संख्या x होने दें। फिर 24x + 12x + 4x + x = 410 = 41x = 410. x = 10. इसलिए 1 पौधे में नींबू की संख्या 24x = 240 है।


17. 37dfdyToTe 3Mhfd INTERSECTING FIGURES

Q. Nol Key

Hints

296.

20+17+15+30+40 =122

Persons who take tea - S @I od 8

O

Persons who take coffee - Fyam e add

Persons who take coffee - g o arel efert

297.

N

0+25 =45

O

Persons who take tea - SiAmIEAd e

Persons who take coffee - Y & &BThY oid @

Persons who take coffee - g o arel @ifed

298.

20+17+15+30+40+10+25+20+7+20 = 204

O

Persons who take tea - ST@M I od 8

Persons who take coffee - Y@ &rH ad &

Persons who take coffee — ¥ @ aTel @ferd

299.

I

0+20 =60

Persons who take tea - S @I @ 8

Persons who take coffee - e wrR aaE

O

Persons who take coffee - gu @ aret @fa

300.

10+25+20+7+20 =82

Persons who take tea - SramIEAd g

Persons who take coffee - ST @NT BT ofd &

O

Persons who take coffee - &d @ aret fa
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Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
अन्तर्विभाजक आकर्ति

Sonal Gupta
जो लोग चाय लेते हैं

Sonal Gupta
जो लोग कॉफी लेते हैं

Sonal Gupta
दूध लेने वाले व्यक्ति

Sonal Gupta
जो लोग चाय लेते हैं

Sonal Gupta
जो लोग कॉफी लेते हैं

Sonal Gupta
दूध लेने वाले व्यक्ति

Sonal Gupta
जो लोग चाय लेते हैं

Sonal Gupta
जो लोग कॉफी लेते हैं

Sonal Gupta
दूध लेने वाले व्यक्ति

Sonal Gupta
जो लोग चाय लेते हैं

Sonal Gupta
जो लोग कॉफी लेते हैं

Sonal Gupta
दूध लेने वाले व्यक्ति

Sonal Gupta
जो लोग चाय लेते हैं

Sonal Gupta
जो लोग कॉफी लेते हैं

Sonal Gupta
दूध लेने वाले व्यक्ति

Sonal Gupta
संकेत


~

18.  STHAIT 37T GEOMETRIC FIGURES
Q.No | key Hints bd
2 2 2 2
=4+3+2+1
301. 2 ( Four + Three + Two + one ) Component =16+9+4+1
=30
3 3
302. 3 2+2=8+8=16
Simplest Squares - 4 g?; gomponen’;s ) Lll
omponent - _
303. 3 gomposect of two>_ A 12 Component - 1 Total = 15 Squares
omponent Biggest 21
2 Components - 8 Squares
4 Components - 5 Squares _
304. 1 6 Components - 4 Squares Total = 20 Squares
8 Components - 3 Squares
Simplest - 12 Triangles
2 Components - 9 Triangles _ .
305. 2 4 Components - 6 Triangles Total = 28 Triangles
8 Components - 1 Triangles
Triangles :- Simplest - 12 Squares :-2 Component - 2
2 Component - 12 4 Component - 3
306. 3 4 Component - 4 Total - 5
Total - 28
Simplest - 8
2 Components - 5 _
307. 3 3 Components - 4 Total = 18 Rectangles
4 Components - 1
308. 1 8+4+6+3+4+2+1=28
1 3
309. 2 1,2,3,4,5,6,7,8=08
A 4 (3,4)(4,5)(7,8)(8,1) = 04
6 (1,2,3,6) (2,6,5,7) =02
7 5 Total = 14 Triangles



Sonal Gupta


Sonal Gupta


Sonal Gupta
ज्यामितीय आकर्ति

Sonal Gupta
संकेत


18. SUIHd 3Mhfd  GEOMETRIC FIGURES
Q.No | key Hints Jdbd
%& 1,2,3,4,5,6,7,8,9,10 = 10
310. 2 ‘.’ 1+2,3+4,5+6,7+8,9+10=5
Total = 15 Trapeziums
/5 N\
11
1,2,3,4,5,6,7,8,9,10=10
315 (1,2,3,4)(3,4,5,6)(5,6,7,8)
e I e (4,6,9,10) (3,5, 11)
Total = 15 Squares
9 |10
6 1,2,3,4,5,6,7,8=08
1 (1,2)(2,3)(3,4)(1,4)
3 (1I 2I 5[ 8) (2, 5I 3I 6) (3I 6’ 4I 7) (41 7I 1’ 8) = 4
8 Total = 20 Triangles
2 1,2,3,4,5,6,7=07
(1,2,3,4)(3,4,5,6) (4,6, 8)
313. | 2 4 (1,2,3,4,56,7,8)
6 Total = 11 Squares
1,2,3,4,5,6,7=07
(1,2)(3,4)(4,5)(6,7)
1 (2,5)(3,6)
314. 4 (1,3,4)(3,4,5)(4,5,7)=3

(11 2[ 3[ 4[ 5) (3I 4' 5I 6[ 7) (ll 2I 3' 4I 5I 6I 7) = 3

Total = 19 Rectangles

GMAT - 88


Sonal Gupta


Sonal Gupta


Sonal Gupta
ज्यामितीय आकर्ति

Sonal Gupta
संकेत


19.

pIE 3R TS|
19. CODING AND DECODING

Q. No| Key Hints J&d
A—m J— h S— ¢
B—> | K— r T— w
C—n L— g u— d
D— k M—> s V— v
E—o0 N— z W—> e
F—> | O—> a X—> u
G—p P—> vy Y —> f
H—> i Q— b L—> t
| —q R—> X

315.| 1 |[MOST——sacw

316.] 4 |GOAL——>pamg

317.] 2 |PIETY ——vyqowf

318.] 3 |CARD——nmxk

319.] 4 INICE ——>zqgno

320.| 1 |IDIRT —kgxw

GMAT - 89


Sonal Gupta


Sonal Gupta


Sonal Gupta
संकेत

Sonal Gupta
कूटलेखन अौर व्याख्या


20. 3TTpTd T HIFTY COMPLETION OF FIGURES
Q.No | key Hints ddbd
391 3 Mirror image ( Vertical ) of 1st Quadrant
' YA TGl BT T Bfd (FeN)
322. 1 1
323 5 Mirror image of 2nd Quadrant ( Vertical )
' SERT Tgatel BT gduT Bfd (@e)
394 ; Vertical mirror image of 1st Quadrant
' TeH Tgfer Pl Ut 8fd (e
Vertical mirror image of 2nd Quadrant
325 1 1 ERT Tgerfer Y ggur Bfd (@)
Mirror image of 2nd Quadrant
326. | 3

FGNISGRINETRC RG!



Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
आकृति पूरा कीजिए

Sonal Gupta
संकेत

Sonal Gupta
प्रथम चतुर्थांश की दर्पण छवि (खड़ा)

Sonal Gupta
दूसरा चतुर्थांश की दर्पण छवि (खड़ा)

Sonal Gupta
प्रथम चतुर्थांश की दर्पण छवि (खड़ा)

Sonal Gupta
दूसरा चतुर्थांश की दर्पण छवि (खड़ा)

Sonal Gupta
दूसरा चतुर्थांश की दर्पण छवि


o1, 3Tpfd YWl Figural Series

Q.No key Hints _\q%

327.1 1 Mirror image of clock wise rotation

TSI I fETH YHTT P qhur sfd

Inside arrows rotating in clock wise & outside arrows revolve
328.| 2 in anty clockwise direction

37X ITe] R TSt bl fEH FAT § 3R TTeR Tl R Tet bl faudid feem o
399 | 1 Figure rotates 180°and dot shifted 90°
' 31Tl 180 feult gt @ 3iR g 90 feaft

Circle moves in anti clockwise direction & dot moves in

330. | 2 clockwise direction

Mo (ga) Tt I faudid feom # grar & 37K fog oSt &1 fdem #



Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
आकृति श्रृंखला

Sonal Gupta
संकेत

Sonal Gupta
घड़ी की दिशा में घुमाव की दर्पण छवि

Sonal Gupta
अंदर वाले तीर घड़ी की दिशा में घूमता है अौर बाहर वाले तीर घड़ी की विपरीत दिशा में

Sonal Gupta
आकृति 180 डिग्री घूमती है अौर बिन्दु 90 डिग्री  

Sonal Gupta
गोला (वृत्त) घड़ी की विपरीत दिशा में घूमता है अौर बिन्दु घड़ी की दिशा में


22. fawa/ e smpfd  ODD ONE FIGURE

Q.No | key Hints dda
331 A All are regular polygon except parallelograms
' FHTAVST Bl Blge FHT (AfAd TgysT 2
332 A All figures having 4 sides except triangles
' T+ 3MTeReT | fHPI0T BT BIgaR 4 T&I(STY) §
Different positions of the same arrow. Except first one
333. | 1 | st Uo ) BISHR U & dR & fahi=T Tem
In all figures no of sides equal to no of dots except arrow head.
334. L | o ariose) % vait & T IR IR 3 Biea e Bl T &b RN &
The polygon inside has one side less than the polygon outside.
3351 2 37eX P GZYST b FTeY TgYST Pl g1 H Teb oIl HH @
The two shaded sectors are directly oppsite each other except 4 .
336. | 4 | <rsrifhd & 4 B Bigdx Y e R & fTudia &



Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
विषम/ अलग आकृति

Sonal Gupta
संकेत

Sonal Gupta
समांतरभुज को छोड़कर सभी नियमित बहुभुज हैं

Sonal Gupta
सभी आंकड़ों में त्रिकोण को छोड़कर 4 पक्ष(भुजाएं) हैं

Sonal Gupta
पहले एक को छोड़कर एक ही तीर के विभिन्न स्थान

Sonal Gupta
सभी आंकड़ों में पक्षों की संख्या तीर सिर को छोड़कर डॉट्स की संख्या के बराबर है

Sonal Gupta
अंदर के बहुभुज के बाहर बहुभुज की तुलना में एक भुजा कम है

Sonal Gupta
दो छायांकित क्षेत्र 4 को छोड़कर सीधे एक दूसरे के विपरीत हैं


23. 152 (31Tepid) Analogy Figures

Q.No | key Hints ddd
Lines and dots are inter changed and shifted to opposite
337. 2 | corner and to top corner
3T 3R EieT W 31galT-ggett 3R fawia i o 3R o B o
LMATIRT & I8
138 . Circles with 8 lines then rhombus should be have 8 lines
. gl 8 TSl & 1Y B Al GHAGYST 8 WTel g1 ATfey
339 4 Figures are inter changed with shading
3PS W ICAT-dacl! 3R BRI B T &
Dots and lines are reversed
3401 1 farg 3R YW P AT T &
Inside figures are inverted
341. 1
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Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
सादृश्य (आकृति)

Sonal Gupta
संकेत

Sonal Gupta
रेखा और डॉट्स में अदला-बदली और विपरीत कोने में और शीर्ष कोने में 
स्थानांतरित कर रहे

Sonal Gupta
वृत्त 8 लाइनों के साथ है तो समचतुर्भुज 8 लाइनों होना चाहिए

Sonal Gupta
आंकड़े में अदला-बदली और छायांकित कर रहे हैं

Sonal Gupta
बिन्दु और रेखाअों को उलट कर रहे हैं

Sonal Gupta
आंतरिक आंकड़े उल्टे हैं


24, TpIdal &1 fAam SUPER IMPOSE FIGURES
Q.No | key Hints  d
342. 2 a)A b) =
3a0. | 4 | /A\ b) =
O O OO
345. | 12 ><>< b) =
YR



Sonal Gupta


Sonal Gupta


Sonal Gupta
आकृतियों का मिलान

Sonal Gupta
संकेत


5. PBITST HISAT 3R B¢ BT
PAPER FOLD - PUNCH / CUT

Q.No | key Hints 3d&d

348. 4 Opposite triangles on the same baseline.
T € 3R 36T R faudid Haro

349, 2 Curved postion is in opposite corner sides
gATaeR feifd faodta oAl # 2

Pair of corner dots image
B W 8ieg Hf SAist

350. 3

4 Cirles with 2 corner triangles
PLL 3 o w2 B s e 4 wde

Mirror images of triangles with C_ shapes
3921 2 | e % el fevor B adfor s
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Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
कागज मोड़ना और छेद करना

Sonal Gupta
संकेत

Sonal Gupta
एक ही आधार रेखा पर विपरीत त्रिकोण

Sonal Gupta
घुमावदार स्थिति विपरीत कोनों में है

Sonal Gupta
कोने पर डॉट्स की जोड़ी

Sonal Gupta
कोनों पर 2 त्रिकोण के साथ 4 सर्कल

Sonal Gupta
आकार के साथ त्रिकोण की दर्पण छवियां


26. UM IR AE DICE AND CUBES

Q.No | key Hints 3d

From 3 figures, 1,6,3,4 dots lie adjacent to 5 dots. Therefore
353. 3 | 2 dots must be lie opposite 5 dots.
3 37Tpel A, 1,6,3,4 S1eT 379~ 5 51T 2139V 2 87ed 5 ey & faudid gHr a1y

1,4,3 & 5 lie adjacent to the number 6 clearly the number 2 opposite to 6.
354. 1,4,3 3R 5 TET 6 I T gU &1 W BT F T 2 6 F Aodia @

The dot, triangle, arrow & cross lie adjacent to the circle. Thus the arrow
lies opposite the triangle, square lies opposite the o. The symbol opposite

355. 9 the arrow is the triangle.
gle, fAPIUT, AR 3R i Tbel A T &1 39 UbR dR Hepivr & fqudid g,
aif 371 & fauRd g1 IR & fdu’id Udle BHpior 21

356. A C‘TT?-' © ﬁ’qgﬁ Dot «—>Blank, '+' opposite blank
o+(_fﬁwli d 0 <«—Blank

6 faudta 3 6 lies opposite 3
357. | 4 1 fdwdia 2 1 lies opposite 2

4 o 5 4 lies opposite 5

358. | 3



Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta


Sonal Gupta
पासा और क्यूब

Sonal Gupta
संकेत

Sonal Gupta
3 आंकड़ों से, 1,6,3,4 डॉट्स आसन्न 5 डॉट्स हैं।इसलिए 2 डॉट्स 5 डॉट्स के विपरीत होना चाहिए।

Sonal Gupta
1,4,3 और 5 संख्या 6 से सटे हुए हैं। स्पष्ट रूप से संख्या 2 6 के विपरीत है

Sonal Gupta
डॉट, त्रिकोण, तीर और क्रॉस सर्कल से सटे हैं। इस प्रकार तीर त्रिकोण के विपरीत है, 
वर्ग ओ के विपरीत है। तीर के विपरीत प्रतीक त्रिकोण है।

Sonal Gupta
डॉट  ↔︎ रिक्त, 
‘+’ विपरीत रिक्त
० ↔︎ रिक्त

Sonal Gupta
6 विपरीत 3
1 विपरीत 2
4 विपरीत 5


27.

aqur Bfq

MIRROR IMAGES

Q.No | key Hints dYdbd
-
350. | 1 2
AN
iy < iy
360. | 2 l' \ ; l' \
! L) j \ L)
N = ¢ N
TERMINATE
361. | 2 VA
1EBININVLE
362. | 4 m m
-] |
FIXING
364. | 1
EIXING



Sonal Gupta


Sonal Gupta


Sonal Gupta
दर्पण छवि

Sonal Gupta
संकेत


28. IERIREICAG HIDDEN / EMBEDDED FIGURES

Q.No | key Hints Wdda
365. 1 SZ % @
366. 2 /lA\
.| 2 @

N\
ol & -

-

369. | 4 \/i C\

GMAT - 98


Sonal Gupta


Sonal Gupta


Sonal Gupta
संकेत

Sonal Gupta
छिपी आकृति 
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GENERAL MENTAL ABILITY TEST
mmas WPRT TR TOcE
@ D Y

(Questions 1 - 5) (@%ﬁ% 1-5)
Directions : Under each given letter series, BRBIND : 29R BT D203R03 923
[X] - W

four alternative§ are given. Complete the @esé”ma o), wodms-‘ojaﬁ%fmq é@%d.
series by choosing the correct one. ﬁ@oﬁmdadabol =02 E?)ﬁ?’g@mq P e

1. ZW, VS, RO, NK, ?

2. ACF, EGJ, ?, MOR, QSV

1) JH 1) IKN
2) IF 2) KMQ
3) JG 3) IKM
4) LI 4) ILN

4aml_n_mo__po_gpp

1)aabcd Hmopqr
2ycbdba 2 Immno
3ycdabb 3yImnoo
4y cdbab 4)Imnno

5.XX_Y_ Yy _2zZ_X__2zXYyz

1

3
4

)YZYyXXZ
2) XyzXyy
) XYy ZXYX
)

ZXYYyXX



GMAT(K-8) VRO
(Questions 6— 10) (g%ﬁféo 6 — 10)

Directions : Complete the following number ZRUEIRD : 2RUDTE TOTEODNRLOT
: o

series by choosing the correct number fromthe | . . .
given choices. 100303 NO@jéﬁ%ﬁmol 3028, SN ROAT

BeednTR), TWRFRRYA.

6. 11, 15, 24, 40, 65, ? 7. 3,6,24,144,?,11520

1) 98 1) 576

2) 99 2) 864

3) 101 3) 1008

4) 102 4) 1152
8.6,596,14,9,?,7?,30 9. 13,18, 25, ?, 49, 66

1) 21,14 1) 34

2) 10,8 2) 36

3) 14, 18 3) 37

4) 21,16 4) 38

10. 4,5, 13, 40,104, ?
1) 219
2) 225
3) 229
4) 239
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(Questions 11 - 15) (@%ﬁ% 11 -15)

Directions : Find the wrong number in the =xa233Rs @ 20u33T 330D B3
given series. - X N o
ROA3,0DZ, BOTWLROND.

11. 5, 8,14, 23, 34, 50 12. 3,5, 14, 39, 88, 169

1) 14 1) 3
2) 23 2) 5
3) 34 3) 14
4) 50 4) 39

13. 5,8,11, 19, 35, 67, 131 14. 10, 17, 26, 37, 50, 67
1) 5 1) 10
2) 8 2) 17
3) 11 3) 50
4) 67 4) 67

15. 1,1,5,3,10,6, 16, 9, 23, 15
1) 9
2) 15
3) 16
4) 23
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(Questions 16 — 20) (a"’j%ﬁe}a 16 — 20)

Directions : The following Venn Diagrams BRWING @ & IINT I WBSNW
show the relationship among the three @5’&053@ TIXT [DORTY TIINLNTIS
given objects. Indicate the appropriate BOLOFBI, $23533. 85 ggwoda@{
diagram to show the relationship. 23S ZO3RS ngwm& TS,

D @ e
(Do ©

D E F
16. Polygons, Quadrilaterals, Squares 17. Water, Oxygen, Compounds
w%oap‘oms@an’%, WG ICTWNRYD, DT, BTPWRT, BOOSNFNED
SNEND 1) B
1) B 2) C
2) D 3) E
3) E 4) F
4) F

18. Headmasters, Science Teachers, 19. Students, Kabaddi players, Hockey

Laboratory Attenders players
mmsemméo&do, am@ﬁ égsm &szs@?mfo, 6&36@5 BLIMOTT, T
TRRTROCR TTCRFTL EiXTprolelen
1) F 1) A
2) E 2) B
2 B 3) D
) 4) E
4) A



GMAT(K-8) N A A

20. Jowar, Ragi, Cereals
BdReY, TN, mﬁsﬁeéo

1) B
2) C
3) D
4) E
(Questions 21 — 25) (@%ﬁ% 21 - 25)

Directions : In the given questions there are RN 1 83 3TN TP H3cWeoTSHoDR
four groups of numbers / pairs of numbers/ FOSZNR/ ERCR FOIBNRH/ WITNE MHOTHNE
group of letters of which three are alike and 9LY, TOOTVNTI), R, YYNTY R
one is different. Find the one which is different. 20T 0¢30D FOWOFB/I, TLOLTTS.

2000 BRY, PIFONT. DT ETONTOR)TZ,

TS,
21. 1) 2 22. 1) 22
2) 12 2) 46
3) 18 3) 78
4) 80 4) 124
23. 1) 1,10 24. 1)BXD
2) 3,30 2) EUG
3) 5,130 3) HRK
4) 7,350 4) KOM
25. 1) CEHM
2) MORYV
3) JLOS
4) Qsvz
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(Questions 26 — 31)

Directions : Complete the given analogy by
selecting the correct answers from alternatives.

28. 9:73::

30. KI2:NL5::PM3:?

10: 7

26. 2:5::8:7?

(@%ﬁ@a 26 - 31)
BRWIN : BRLITOE TOIeF 0PNRVOT
HOOITPW WTTJIY, BOX FYNT
mmééojbm& TRRFNRDR.

29.

31.

BBC:EGJ
1) JSV
2) FSU
3) GSU
4) FSV
AXE:GZC
1) MLP
2) NLQ

3) MLQ

)
)
)
4) MHQ

::CNN:?

::?2:SJ0
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(Questions 32 — 36) (@%ﬁ% 32 - 36)

Directions : The following questions are based ARUWRA 1 T5 IINT 55 ned @‘@wmﬁ

on the given diagram below in which each ©330R, Tonw WTIIT w%Oﬁ.@Od& 238
figure represents a group. The numbers in the 20T ANIeES w\%@wéd a%éd@doa
figure represent the number of persons in the O8N & mo@m@cm Z=T B0 OfDo“D

group. RRWATT.
ﬁ Agriculturists
1%353
7 9
‘ ‘ Teachers
6 \5 \8 O éﬁ\ 25>
10 Doctors
déddo
32. How many are only agriculturists ? 33. How many teachers are
@mes e %363 357@_3) SNSS 2 agriculturists ?
° IR, B HTIH BFZTNRS ?
1) 4 e ) 0] o
2) 5 1) 4
3) 6 2) 5
4) 7 3) 6
4) 7
34. How many teachers are doctors and 35. How many doctors are agriculturists ?
agriculturists ? @a,% =S ﬁédédo % 3®ﬂmod 2
aﬁgz xS ST ITL ﬁéddo T
“ ) = 1) 4
z%émmmd ?
e 2) 5
1) 5 3) 6
2) 6 4) 7
3) 8
4) 10

36. Totally how many doctors are there in the group ?
MORTY Wi O WR FHBOwT ?
1) 33
2) 2
3) 27
4) 1
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(Questions 37 - 40)
Directions : Choose and substitute the correct
set of signs in place of = sequentially selecting

from the given alternatives to make the
equations meaningful.

37.30*6*3*2

39.

(Questions 41 and 42)

Directions : In the given equations find which
of the following interchange of signs/numbers
would make the equation correct.

41. 7=15+3 +12
1) =and +
= DR +
2) 15and 12
15 mgg 12
3) 7and 12
7 a’néz 12
4) +and =+
+ WD+

10

(T3 37 - 40)

BRWRNL 1 BRLTOT BACTTEOTI),
OPFTVHOF BB, FRLTIT 0330
WH O MDD, * WNTY TN
STIeHRLIEBD DOLVT, TJOITF OPNPOT
&0A.

38. 7*4*5*33

X

X

= X

@%ﬁ% 41 == 42)
BRWRNLD © BRWTT BAWETTRTY
o350 as@ﬁ@omowéwm& T W
DPRTON FETTR FOOIPNATITT
DOVTIR), FOTIEROWD.
42. 17=7-2x5
1) 2and 7
2 DR 7
2) 17 and 5
17 ?3333 5
3) =and x
m@g X
and —
DB~

4)
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(Questions 43 - 48)

Directions : Find the missing number /letter in
the given matrices.

43.
M

45.

10

13

47.

1) 60

45

105
129

11

(s 43 -

DRBEINAY

48)
3RLT BRIINGY e

BRENTD xosvﬁé/@?i\dsm& TOTWY HBOWD.

44,
P T|V
J R
Flyg|l?
1) B
2) C
3) D
4) E
46. 6 27 4
7 59 8
5 ? 9
1) 45
2) 46
3) 47
4) 48
48. 6 3 9
8 10 4
? 109 97
1) 90
2) 100
3) 101
4) 116
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(Questions 49 — 53) (@%ﬁ% 49 - 53)

Directions : Read the following questions RN © B é_?ﬁ é\ra@édaf @%ﬁgﬁm&

carefully and find the answers. NETED, . TSRO T e
NZTTR, TOBIEROND.

49. John was facing North. He walked  49. 2% VT TNDTRRRN. WT

40 m and turned left to cover 20 m, 40 m 583 <S03 ac:'%% 3N 20 m
again he turned left and walked 40 m. -
How far is he from his original position ? —g)&”pagg’ wozc mg@o&e @z:é% 8N

40 m STESNTYN. BRI 31N 364 TRV

1) 80m BT T, BRSTOTS ?
2) 60 m 13@ 80m " o
3) 40m 2) 60m
4) 20 m 3) 40 m
4) 20 m
50. A and B are sisters, C is the motherof 50, A 33 B Z32c3005%, CO» B &
B, D is the father of C, E is the mother 33033,-9 DS C® 308, Eo DR

of D. How is A relatedto D ?

1) Grandmother

So0w. A O3» DR Qendes ?

2) Grandfather 1) ©%
3) Daughter 2) 308
4) Granddaughter 3) N
4) mmewo

51. An ambulance reaches the place of 51, .0 @023 5 km SRTADIT
accident which is 5 km away at an - ;

WITZ IBT ILE nowdn 40 k
average speed of 40 km/h. The time dw ' N N 7’% 3 - 0 km
taken to reach the spot is NBY STIT. VT & FIIIH,

ST SAWEROT IR

4) 12.5 QDTN

1) 3 minutes

2) 7.5 minutes 1) 3 DTN

3) 10 minutes 2) 7.5 Q0TI

4) 12.5 minutes 3) 10 QNTJNLD
)

12
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52.

53.

If South-East is East, North-East is
North, South-West is South, what is
West ?

1) North-West
2) West
3) East
4) South

Ravi is sitting at the 18" position from
the beginning and at the 58" position
from the last in his class. How many
students are there in the class ?

13

52.

53.

&-373@033 @%% TRTIE, éwess as% emgd,
agposs aso& B0 8RB, JdI AB

o ) L]
OIRR)T® ?

TR0 [T ITNECRY wToPROT
183%¢ m@ﬁdcg ) deNokom 583¢
m@mg BOITRR. TeMerT ITNIHY
aags &m@?ﬂ@@ﬁ ?
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(Questions 54 — 57)

Directions : |dentify the number of specified
geometric shapes in the given diagram and
mark the correct answer.

54. How many Triangles are there in the
given figure ?

391 &RYHT UBIDY o

&3

TR ?
1) 8
2) 10
3) 12
4) 14

56. How many Squares are there in the
given figure ?

39 &Ry BB Oy PGS ?

@%ﬁ% 54 - 57)

BRWIND @ IYR B30T WSRYY
30233 méé)aéoda SERTL ﬁosﬁéodam&
TOBHRRW YOBTHI, TSR

55. How many Parallelograms are there in
the given figure?

891 80YTHT 7,30 I, ARROST
BBUHBROS?

2N\
\ Ny

57. How many Semicircles arethere in the
given figure ?
TeR BRuTIT ©TIONY o:
SRR IO 2

N
N

14
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(Questions 58 — 62) (@%ﬁ% 58 — 62)

Directions : In the following questions a word FRURINED : S5 i@?ﬂs @%ﬁ%ﬂg 2,000 a’.)cs:)jn&

is written according to some code. In each A00%€3T HORONY WIONCONT. T

question a word is given and find how this can 3.0 DeRTLT TTI, WFe F0EeS3

be written in the same code. mo_'iOﬁDQ 2er wdoﬁow&odowodm&
BOOLRT FTOITE ODNRYY TOTLER.

58. If MADE is coded as REGG,thenIRON 59. If FUTURE is coded as TUFERU, then

can be written as BRIGHT can be written as

MADE 20w wcssmd REGG Q00 FUTURE &ow wwwmez TUFERU
RoBese30aws, IRON Q0w TTWIY, QOTH MoBeSezOAWS, BRIGHT Q02
&l 0BT BRI, Soent WTOPWTOTH

1) NURQ 1) THGIRB

2) NVPR 2) IRBTHG

3) NVRP 3) IRBGTH

4) MUQO 4) IBRTHG

60. If FAMOUS is coded as 75, then 61. If ANSWER is coded as nafjre, then

PERSON can be written as ONLINE can be written as

FAMOUS o wwwmel 75 QO0TN ANSWER Q0w msm‘i nafjre OTL
RoBe 30T, PERSON Q000 ITT, KoBe3e80WT, ONLINE 202 TTIR,
Gt WBCHWTIT Gt WBCHTIT

1) 80 1) bayvar

2) 83 2) cbyubr

3) 86 3) bcyver

4) 87 4) bayuat

15
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62. If COMPANY is coded as xlnkzmb
then HANDSET can be written as

COMPANY &0 msmd xInkzmb
NOTH BoBeezD1TS, HANDSET oW
msm& 2R W30

1) szmugvh
2) szmwhvg
3) sznxhug
)

4) szmvwhg

16
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(Questions 63 - 65)

Directions : i
numbers in the figures are related. Identify their ©T,8N¥ QT NO@jzsﬂ)% GsNolelalerby

relationship and find the missing numbers in ﬁowoz‘jsm&‘ ;1@2,%33%53 3! 50&)0@3@&&

the given figures.

63.

In the questions below the

3

100 ) 4

(I3 63 - 65)
TRWIN : 38 SN %Jaéédoﬁ @)éﬁ%f@),

TR VY e ZRNDD HOLBRYRD,

64.

BOT&BCND.

2 3
7(196) 4 8§{400} ?
1 4

1) 3

2) 4

3) 5

4) 6

10 1

S| 4| 4 6| 21| 2

3 7
1) 1

2) 9

3) 16

4) 25
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65.
4 | s 10
2) 11
2 1
40 3) 20
4
) y ) ) 36
3 2

18
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(Questions 66 —69) (;g%ne;; 66 — 69)
Directions: In questions given part of the figure RRUWNN 1 8 IUNT @50171%3@0 Q%@‘%OSD

is missing. Identify the missing part from 0T &N WIRNFTING. DLW,
among the given choices under each question.  Z&o3ROTD @%oj; SR %@ééma SRS

TO3TOF ORNPOT TOTVEA.

N

66. 67.

AN

yd
N

¥ L
SPES

- N
=

\&4 <

FEAEAVE

19
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68. 69.

R 5 R B &

20
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(Questions 70 - 72)

Directions : In the questions given, there are
figures/words to the top/left of the mirror
indicated by lines and their mirror images are
given in one of the four figures/words to the right
of these. Find the exact mirror image of each
figure/word.

1

(s 70 -72)

BRWRNAL 1 BRYH TIJNYY, Tedne
dae%ﬁ/admﬁdgmw 238 /TTNY TTE€d
TIWOWNYD, WOLPNTY ZRTWSONG. 33
DBPRNTYND T 8/BTT  FOO3NT
TEWOWTTY, TRWTVT SoINPOT

FOTRCNO.
o)\ —
A

) X y 2) P
e )y =
71.
1) 2)
AN
) < Y >
2. REASON "WKEVZ2OU 29MO2AH

.

sNOSAER YBEEA20MU

21
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(Questions 73 - 76) (;gg:zﬁega 73 - 76)
= . -
Directions : In the questions given how a sheet ARUWIN %@@i&ﬁ %ﬁqﬁ%ﬁ@o 2.0

of paper is folded and punched is shown by TN T T TVFOITY, IR TOY,

figures. If the paper is unfolded how does it m@da@dm& 8BNY DDROT SLCOAT.

appear ? Select the correct answer fromamong  =y=: o803, VBJITIR 93 2R
° Q

the alt ti iven.
e alternatives given z@saotéd Qowd@l el TO3PE ODNYOT

6:5’03% 8.
¥
-
73. 4 o
o o o
o} o}
o) e} O 0 O Te) o)
o (o}
o 0 o
1) 2) 3) 4)

22
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|
¥

75. 4
i

3) 4)
/N
™\ 4
o
& O
e NI N
3) 4)

23
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(Questions 77 — 81) (w%ﬁ% 77 - 81)
)

Directions : The questions given consists of TRWRND | 3D TIINYY 7 ene

series of figures which are incomplete. Inorder  3¢e5030T), FRTWCONT. VWO  TREOF

to complete the series, select the correctfigure 3ecdone). TS T30 e300

from the given choices = P .

' TROFNWITO TRLBTIFT Tooy,

TOIPF CDNTY FORIWTRY, S0, B[RR.




—||/\||=
Nele=
0, )

V V JAN
/\ JAN
W, AD ®

w1

2



GMAT(K-8) AR 0RO
(Questions 82 - 86) (;,g%ﬁe;; 82 — 86)

- . -
Directions : In the questions there is some ,::azééﬁe;a P3YN 3RHTE TEOIROW
relationship between the first two figures. The @54033@,,033@ RPTIOT ATE @5@3ﬁ@7§
same relationship holds good for the second Fow0oFNT. VT TOWOTFF) NTHIC
set of figures of which one is missing. This Sz So@Ey ©32.8RY9OE. wOTT
missing figure is given as one of the four e D = 2
alternatives. Find the correct answer. SRE[OY. TIKROW TPod 39N

TR TIW TP, TOITEFOIINT Y,

ROOIPTTI, BORTPR.

82.

D
@
K=

83.

ja
@
.
%

1) 2) 3) 4)

26
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1) 2) 3) 4)
O
. | > : Ol 22 .
A N ¢
O
O a0
1) 2) 3) 4)
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(Questions 87 — 90) (FBnss 87 - 90)
Directions : A sheet of paper as shown in the AU a%@d@)dadoé B 2,00
: wn i -
figure is folded so as to form a cube. Select the NS mg‘gwm& DRI wm%@‘%
correct answer from the four alternatives in  QVOERTOET. QRIS @Oﬁgﬁ@@,, CTNENSAEY
which the pairs of faces are opposite. mmmm@m& BROOTVE FOO3PT
YITBI), BORIPR.

87.
alb 1) ab;ce;df
2)a,f;b,d;ce
¢ d 3 a,e;cf;bd
¢ | f 4)a,d:cf:be
8 v |l =| > 1) X, > =,+; %, <
o, 2) X, %, =, +;> <
3) X, > =< %, +
< 4) X, <;=,+; %, >
_|_

28
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1) 7,3:4,5;9,2

89. 7 )
2)4,3;7,5;9,2
419 3y4,5;7,2;9,3
3 4)4,7;92;35
215
$
90.
& | #
)9, #:& @ ;> <
@] < 2 @,8;#<;&>
S 3) &, <;@,> # 9
4) @’#;&1>7$5<

29



Nov-2016 NMMS GMAT Key Answers

QNo Key QNo Key QNo Key QNo Key QNo Key
1 3 19 3 37 2 55 3 73 1
2 1 20 2 38 4 56 1 74 3
3 4 21 3 39 1 57 1 75 2
4 4 22 4 40 3 58 3 76 4
5 2 23 1 41 3 59 2 77 4
6 3 24 3 42 4 60 4 78 2
7 4 25 1 43 1 61 1 79 4
8 1 26 4 44 3 62 2 80 2
9 2 27 2 45 2 63 3 81 3
10 3 28 1 46 4 64 4 82 2
11 3 29 2 47 1 65 1 83 4
12 1 30 2 48 2 66 2 84 1
13 2 31 4 49 4 67 1 85 2
14 4 32 4 50 4 68 2 86 3
15 1 33 1 51 2 69 3 87 4
16 1 34 1 52 1 70 4 88 3
17 4 35 3 53 3 71 3 89 1
18 2 36 2 54 2 72 1 90 4
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GMAT (K-8) AR O
GENERAL MENTAL ABILITY TEST
mmsé ai’aa@% mwatgg? waeg
(Questions 1 -5) @%ﬁ% 1-5)

Directions : Complete the following number =Re3Inh: BPEITOE  TWOITWE ORNPOT
series by choosing the correct number from =003z ROBNTTY, BOR, FINT HOSTY

the given choices. BeedneR, BREFTIRDA.
1. 13,27,43,61,81,? 2. 7,11,19,35, 7,131
1) 101 1) 39
2) 102 2) 43
3) 103 3) 51
4) 105 4) 67
3. 9,13,22,38,?,99 4. 4,12,39,103, 228, ?
1) 54 1) 292
2) 63 2) 353
3) 74 3) 444
4) 87 4) 571

5. 4,7,12, 21,38, ?
1) 71
2) 73
3) 76
4) 81



GMAT (K-8) A

(Questions 6 —10) @%ﬁ@a 6 - 10)
Directions : Under each given letter series, 2eugns : 397 8008 BBCIRO ©TT
four alternatives are given. Complete the 3esdnie Toey BoTF 0PN, BT,

series by choosing the correct one. ROOITRTHTH, S0& BeedoDT), TREIFIRDA.
6. pp_g_9gp__d9__pp 7Z.Ilm_n_Ill_n_ml_mn
1) papapq ) mnmnl
2) qqppagq 2)nmmnl
3) pappap 3) nnmmi|
4) pagpagq 4) mnnmn
8. a_ac_da_a_a_ 9. CX,DW,EV,FU,GT, ?,?
1) babcd 1) HP, JQ
2) bccbd 2) SH, RI
3) cacdb 3) IS, JR
4) dabcd 4) HS, IR

10. e_fgf_gh_ghi_hij



GMAT (K-8)

(Questions 11 -15)
Directions : Find the wrong number in the
given series.

11.

13.

7,14,22, 34,47, 62
1) 14

w N

) 22
) 34
) 47

SN

4,20, 80, 230, 480, 480
1) 20

) 80
3) 230
4) 480

N

(F3nes 11 - 15)
BRWIN : BRLTH Beedong EEapia
50@3”50338330l FOWY BCWD.

12. 9,7,13,10,17,14,21,16

14.

17,23, 31, 39, 41, 47
1) 17

2) 23
3) 31
4) 39

15. 7,12, 22,42, 86, 162



GMAT (K-8)
(Questions 16 —21)

Directions : In the given questions there are
four groups of numbers / pairs of numbers /
group of letters of which three are alike and
one is different. Find the one which is

different.

18. 1) 4,8
) 9,64

3) 25,125
4) 36,216

20. 1) CPDQ

(I3 16 - 21)

BRWRND: 8 39NT TJNYY
B3e0mTYRe BOo3red/dreR Fo3NRs/
WBONY MOTONY T, THOTHNT, BoLsT.
QRNGY TRTY 20T VeSO FOLOTITI,
BROOIBH. 2wOTD &PT, YT F[ONT.
RIFTONDRTI), TSR

17. 1) 144

19. 1) CEDF

21. 1) DFI
) JLP
3) KMQ
) SUY



GMAT (K-8) A

(Questions 22 - 26) (IBRes 22 - 26)
Directions : The following Venn Diagrams =~ ZRi8nsd : 83 39NT I3 8300
shows the relationship among the three TS ODYTV RT TRNYNTOES

given objects. Indicate the appropriate ROOTIB/I, APRWIETT. 84 RO 0TI,
diagram to show the relationship. ARBAE HOURT 233, TITVER.
A B C
D E F
22. Mammals, Rat, Bat 23. Shark, Birds, Parrot
BRAIND, Y0, IO FTE, JINW, N®
1) A 1) C
2) B 2) D
3) C 3) E
4) D 4) F
24. Asia, SriLanka, Colombo 25. Doctors, Mothers, Nurses
DO, YOO, BRBROWR STT0, THOWORTL, TRROHTH
1) F 1) D
2 2) C

) C )
3) A 3)
) D )



GMAT (K-8) A

26. Authors, Teachers, Researchers
Se D3, agsm, DOBRCHIH

1) F

2) A

3) D

4) E
(Questions 27 - 32) (TBnsd 27 - 32)
Directions : Complete the given analogy TREIND 1 2T TOSTVEOINLOT
by selecting the correct answers from 200353 méd%m =02 2GRS
alternatives. -

FOTZONT), TREDF TP

27. 30:42::?:90 28. 14:18::34:?

1) 49 1) 36

2) 64 2) 38

3) 72 3) 47

4) 81 4) 51
29. 9:64::25:7? 30. BDE:FHI::JLM:?

1) 36 1) NOP

2) 81 2) NPQ

3) 125 3) OPQ

4) 216 4) PQR
31. GH9:JK12::?:PQ18 32. CFK:EJQ::QTY:?

1) MN15 1) RVB

2) NM15 2) SXD

3) MN14 3) SXE

4) NM16 4) RWC



GMAT (K-8) A

(Questions 33 — 35)
Directions : Choose and substitute the
correct set of signs in place of * sequentially

selecting from the given alternatives to make
the equations meaningful.

(ZBns 33 - 35)

BRWINT: BRLITOT/ FNCFTLITI),

T TYREOF TVBELD, BRI 00T W0
NeossDY, * WNTY BdweN STIedFLIER
DOLNTIY, JOIPF OPNPOT SOR.

33. 7%6%4:%38 34. 16%2%4%2

1) — x, = 1) =, — =
2) X, =, — 2) +, =, X
3) x,—, = 3) -, x, =
4) +, %, = 4) +, =, x

35. 6%4%2:%12
1

X’ :7

N

X,

w

) -
) X, =,
) = -
) = %, =

y —
Hl

SN

(Questions 36 — 38)

Directions : In the given equation find which
of the following interchange of signs/numbers
would make the equation correct.

géelﬁ@a 36 - 38)

BRUWINED: 3RWTR RNETTRTY 0350
a%éolmfo/ﬁoéﬁémﬂmol TN 0T WRTN
RENeFTed FOOIPNTOETS DOLNTIY,
TOWRILBOND.

37. 10x6-2+6=4

38. 8+2=30+3

36. 36-12:8+6=42

1) +and + 1) xand + 1) 8and 3
+ DB + X @B + 8 = 3
2) 8and6 2) +and = 2) 2and 30
8 = 6 + DB = 2 @ 30
3) —and + 3) 10and 4 3) =and +
- DB + 10 =2 4 = B +
4) 36and 8 4) 2and 4 4) +and +
36 == 8 230 4 + B +

9



GMAT (K-8) A

(Questions 39 —43) (ag%mfo 39 - 43)
Directions : The following questions are XRWEN : 83 FINT JJINWD LTS
based on the given diagram below, in which S%&00®, Tone T 83w ARWRD

each figure represents a group. MOOTIZY, BFPOAT.
O English students
QONCT QTR
7 ™M

__—L Psychology students

TOTTOY QWP
> 0"
1 \5/ 3
2

4 O Sociology students

DRNEIVE AN
= b))

39. Which number represents the 40. Which number represents the
students who study all the three students who study only
subjects ? Psychology ?

O30T HOBZ0% DY T o35 509360333 wasmgsmd ENSTIEY
NODNTRY, VHONT TR OTFONT [TRWH QRN
DRRENETY, TIIRWIL ? TBARTTT ?

1) 6 1) 2

2) 5 2) 4

3) 4 3) 5

4) 2 4) 6

10



GMAT (K-8)

41. Which number represents the
students who study English and
Psychology only ?

o3P 0930333 QONCTFE 1B
SO sm @doﬁas mcm
amarmﬁm ms T2 ?

1) 2

w

)
) 5
4) 6

42,

Which number represents the
students who study Psychology and
Sociology only ?

3o Moss oo s %ﬁ DB
"mmm wda @doﬁm wm*ow
@;mﬁm dmé T2 ?

43. The number 7 represents

50935 7 TEARTHRHT®

1) English students who also study
the Psychology
VNI %Nﬁ&@ p3feel @60333
mma faoﬁew é)m@rmﬁo

2) English students who also study
the Sociology
N?@%%Nﬁm F3tes) @550336
VSRl faoﬁew é)m@rmﬁo

3) Only English students
QONET DWRFNTI), =T

4) Only Psychology students
DTTOF DTHFNTD), TN,

11



GMAT (K-8)
(Questions 44 — 48)

Directions : Read the following questions
carefully and find the answers.

44. Shrihan starts off left and moves
8 km., then he turns right and moves
4 km., again he turns right and
moves 8 km. How far is he from his
original position ?

(IBRes 44 - 48)

BRWIA: 83 IIR BRLTOH @%ﬁ@m&
REIEY, 80, B30 jé&m
mgwab& FOTIROND.

44, 5T AWPEINQOT TR/TORP2 8 km.
BODTR, WTH FOIT u@%& 3TN
4 km. BODTN, F03T T WTW
u@% &oon 8 km. BeT BODTIR.
ORI 3N 35& wwwm@a@od DT

mwgw@)ﬁ ?
1) 20 km
2) 12km
3) 8 km
4) 4 km
45. Hithaishini’s fatheristwiceasoldas 45. %o%&séoﬁo SoW3N WRY FIRCTTI
her brother. She is 7 years younger adddﬁ% sosaammnw@p. (Dinfes 35&
to her brother but 3 years elder to BRACEOIN0Z 7 S B3NS
her sister. If her sister is 12 years 5E8 3% TRecdoned 3 ome
. n QU
of age, how old is her father ~ dmz%w%ﬁmgﬁ. 5= TR ecEOat
SeBx 12 mgmncga, OovRclelnlov)
SedE T, ?
1) 30years 1) 30=RFNED
2) 44 years 2) 44TRJEND
3) 45years 3) 45TRFND
4) 50years 4) 50IRERD
46. If allthe numbersfrom1to100are 46. 1 008 100 STINT O ﬁoaﬁsz{@ﬁi{
written, how many times 3 will w3sS, 3 @35% DO IORWTIT ?
occur ? -
1) 18
2) 19
3) 20
4) 21



GMAT (K-8)

47.

48.

Chitrais taller than Kaveri, Namana
is shorter than Sneha, Chitra is
shorter than Namana, Sneha is
taller than Megha. Who is tallest
among these ?

1)
2)
)
)

Sneha
Namana

3) Megha

4) Chitra

Seven members are standing in a
line in an army parade. Q is on the
left hand side of R and right hand
side of P. O is on right hand side of
N and left hand of P. S is on right
hand side of R and left hand side of
T. Then who is in the centre of a

line ?

13

47.

48.

2T TONOZ DITNTRY, V1T
BLTONOT BENTE, WBeh TDTYNCS
DENTE, BT heFonos
NTTRNTRE. YTTY BT ©I03
NZTTNTRT ?

2) I
3) e
4) 33,

BeRodh IFBERY N BRI LO0W
TORY 03T, Q Q0TI RS
QBFNTY B, PT wopenm
D03TR. O 20T= NS worenad
T PI Sr®penny R0ewmes. S
QOWRNFZH RS wonag 3 TS
QTBPINTY VoSN, Tomemd B4
5008 d:z;édeg N0STHTTT> O330TH?



GMAT (K-8)
(Questions 49 - 52)

Directions : Identify the number of specified
geometric shapes in the given diagram and
mark the correct answer.

49. How many Triangles are there in the

51.

given figure ?
39N BRYTHS w%@oﬁog DT,
SRWNPR 2

—

w

e\/\@v
© N o o

How many Squares are there in the
given figure ?
TR ERLIL @%QOS)Q DT IRV ?

(e 49 - 52)
RRuRR : BUT SO0 WFTEY Awesd
2TDI0D GFINY ROLODT, FORELRTD,
SUITHTY, SR

14

52.

50. How many Rectangles are there in

the given figure ?
39N BRYTH w%@oﬁog DT,
BORINYE ?

How many Semicircles are therein
the given figure ?

39N BRYTHI w%@oﬁog DT,
@@F%gﬁ@ﬁ ?

o g




GMAT (K-8)

(Questions 53 — 56)

Directions : In the following questions a
word is written according to some code. In

each question a word is given and find how
this can be written in the same code.

53.

55.

If HORSE is coded as UBEFR, then
DONKEY can be coded as

HORSE 2o mwmez UBEFR 20t
D03 330203, DONKEY 0 ascsmd
%R ToBCSTTOIT®.

1) LRXQBA
2) QBALXR
3) QABXRL

4) QBAXRL

If CHILD is coded as xsrow, then
BEAK can be coded as

CHILD <xow mmel XSIOW Q0T
103330203, BEAK QoW aﬁddﬁod
%R ToBCSTDOTD

15

(B3;n<d> 53 - 56)

BRWIN 1 33 FINT TN 2,00 JTBI,
M00BeST RTCDY WBONONT. VT, ©T3e
HR0BeIF GRTODY FBen WTCHLTITIOLOT,
FOTDORW TOI0F ODNYY MHTLSR.

54. If GLUCOSE is coded as TOFXLHV,
then HORLICKS can be coded as

GLUCOSE xow wwsm& TOFXLHV
NOTH BoFe302338 HORLICKS oo
wmm& %R TOTCSTLTOITN.

1) SLIXROHP
2) HPXROSLI
3) SLIORXPH
4) SLORIPXH

56. If DHARWAD is coded as 23, 19, 26,
9, 4, 26, 23, then KALBURGI can be
coded as

DHARWAD <02 wwsm& 23,19,
26, 9, 4, 26, 23 NOT> TOFCSTOATT,
KALBURGI «ow mwsad &en
[OFCS TR

1) 16, 26, 15, 25, 6, 9, 20, 18
2) 11,1,12,2,21,18,7,9

3) 16, 26, 15, 24,6, 18,20, 19
4) 16, 26, 15,25, 9, 6, 18, 20



GMAT (K-8) A

(Questions 57 - 61) (IBRes 57 - 61)

Directions : In the questions below the =~ BRIAW: 85 TN BRI IJNTY,

numbers in the figures are related. Identify =3 3R$YTT FOLBNH TBPOLTOI

their relationship and find the missing ~ FOOTBIY, APWRTT. B3 FOWOPHI),

numbers in the given figures. TSR WINYY D, BRENTIT
ROBNTTY, TOW SROWO.

yanyyanman
KA DD

22
8 & 8 i

58.
11 9 14
7146 | 6 8 | 31| 4 13| 2| 1
8 7 12
1) 24
2) 25
3) 26
4) 50



GMAT (K-8) A

59. 13 14 9 5 11 13

54 28 ?

60.

2 (144) 6 3 (2)5 5 (256) 2

61.

10 20 60

17



GMAT (K-8) A

(Questions 62 —65) (ag%mfo 62 - 65)

Directions : In column — | words are given. BRUWIN : :J;ozj - 130391 335571@;5%1 éraéid.

Their codes are given under column — Il 83 ITNY ROFESNTR, Bog — 113 37 L.

following the same order as in column —I. 85 TogeEnsd B0 — 13T TTIRTYH

Find the codes for the letters of words in  w3gneR wdNS. 0 — | B

column — | and find the codes for givenwords = . @ﬁdﬁgﬁ ﬁo%eéwga& 203 amd
[9%)

In the questions. BIRGY BRUHT TENET RoFITIM,
RT3,
Column -1 Column -1
How — | gow — i
GOLF %! @ #
RADIO &8+$0!
TENNIS 2€0000
VISION HEO®! O
62. FIRE 63. GOAT
1) # O &€ 1)+ 1% ?
2)#1$ @ 2) € % $ +
38 #®¢ 3) % I + 2

4) # ® & € 4) % 12 +

18



GMAT (K-8) A
64. REVISE

1)&€pO©€S$
2)&$p0O©S €
J#O0Op! ® O

)& €EpP®OE

65. Thecode ? & € + ? represents
the word

Tode3 ? & € + ? BRUDT I3
1) TREAT
2) TRADE
3) LEAST

4) LEAVE

19



GMAT (K-8) A

(Questions 66 —69) (ag%mfo 66 — 69)

Directions : In questions given part of the Xe¥ENNE ! 33 FHNT TJNYY ©7B0D 2.0
figure is missing. Identify the missing part 271 ©@TEFTONT. BT, BSOIROW
from among the given choices under each ZF0d 31 LI TOLY, TOURE CRNYOT
question. RIS,

20



GMAT (K-8) A

N
X

ng .
2) g 2)
3) ;X 3)
4) 4)

21



GMAT (K-8)

(Questions 70— 73)

Directions :

70

ral

72.

73.

In each of the questions
there are four figures. Among these three
are alike in some way, while one is different.
Find the figure which is different.

4
@ ¢

(ZBnies 70 - 73)

TBRWING : 33 NI @50171@5@
TECIROTWTYON® ToLY, B ENTI. ARNE
e/_":)ejé TR 2,000 DeSoNY h’zse)émﬂa’o. 30
2.0TD T[T ébz;:)a;lmﬂd. 33 awﬁ&mﬁ&@daﬁ&
TOWY &BOWD.

e
D ©




GMAT (K-8) A

(Questions 74 - 77) @%ﬁeﬁo 74 - 77)

Directions : Inthe questions giventhere ~ Be BN @ 3RS JINTY, Jedne
are figures/words to the top/left of the  ewon/aB@EPNEITE W83/TINS TTeeo
mirror indicated by lines and their mirror mwg’mejm 2OZPNTY)  BRBSONT. B4
images are given in one of the four figures/ S@mﬁd@dfd @@asg/w%d 203 2T

wgrds?o the right ofthgse. Find the exact N T
mirror image of each figure/word. = 2 (¢ 3
FOTO&LBOND.

74.

1) 2) 3) 4)

29990

7

o

77. JA[V[IHHE BRINJAL BEIA1IVTD
1) 2)

BRIVIJAL TVICNIYU4
3) 4)
23



GMAT (K-8)
(Questions 78 — 82)

Directions : In the questions there is
some relationship between the first two
figures. The same relationship holds good
for the second set of figures of which one
is missing. This missing figure is given
as one of the four alternatives. Find the
correct answer.

iclel

(ZBn<d 78 - 82)

BRUWSA : IR BRLIDR  TSO3ROW
B3,00Qow ma@)s @dafo SER
Nowoc&bcﬁ QTIC ROLWOReY) NTTRE :mrcﬂ
ROF ZINTIT. 0T, BRLDZHDL.
w@Oi@OdD w?ﬁOﬁD 3SR %@@353?) SRl
wofmrojsmﬂ@ Naofmdacsﬁs ejoisofma

:@z?

DD

[/ XA\ N

R A 5T LT

24



82'::: ()] = ?
L0@4

25




GMAT (K-8)
(Questions 83 — 86)

Directions : In the questions given how
a sheet of paper is folded and punchedis
shown by figures. If the paper is unfolded
how does it appear ? Select the correct
answer from among the alternatives given.

83.

.O . .
.

., . K

. . e

‘. .

.- .

.
. .
.
.

(ag%mfo 83 - 86)

BRWINA 1 BLIDH THNYY 2,00 TN
TOTOR, TR TOG B[RRI, WEN
RROT BT, TT8 m@oﬁaa’n& WRATN
O Tt FOWETT 7 NCIANIII SR
O OPNPOT 6303% SoB.

1) 2) 3) 4)
) . . .
OO0 @] O O
O
o o lo o © 9
O O O O O
1) 2) 3) 4)

26



GMAT (K-8) A

85. : 0o ~N

o o
o o 0 o o °
o 0 o o 0 0
oo oo
1) 2) 3) 4)

86.

27



GMAT (K-8) A

(Questions 87 —90) (ag%mfo 87 - 90)

Directions : The questions given consist DRUWRND : m%dm Q%TWQ @5@37@

of series of figures which are incomplete, ~ e300, FRTWSRNT, VT TeEdF BeedoDdY,
in order to complete the series, selectthe I8 TFoDY SeedodT, Teor MPPHLD

correct figure from the given choices. 3L DOY, TOSTEODNSS) BOOSHT
3,300, %, [RAE.

D

28
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Nov-2017 NMMS GMAT Key Answers

QNo | Key | QNo | Key |[QNo| Key | QNo | Key | QNo | Key
1 3 19 3 37 1 55 2 3 4
2 4 20 2 38 4 56 1 74 3
3 2 21 1 39 2 57 2 75 1
4 3 22 1 40 2 58 2 76 2
5 1 23 3 41 4 59 4 71 1
6 3 24 4 42 1 60 3 78 4
] 2 25 2 43 3 61 1 79 3
8 1 26 1 44 4 62 4 80 1
9 4 27 3 45 2 63 3 81 2
10 3 28 2 46 3 64 4 82 4
11 2 29 4 47 1 65 1 83 3
12 3 30 2 48 4 66 1 84 1
13 3 31 1 49 4 67 4 85 2
14 4 32 3 50 2 68 3 86 4
15 1 33 3 51 1 69 1 87 2
16 1 34 4 52 1 10 3 88 4
17 4 35 1 53 4 71 2 89 2
18 2 36 2 54 3 72 2 90 3
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